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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927853
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592714343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following word CANMNOT be made by using the letters from the given word?

MODULARITY
Options:

1. % MURAL
2. % AUDIO
3. % TRIAD
4. ¥ TRADE

Question Number : 1 Question Id : 54592714343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR o & & A7 S, 150 7 =g & STaRT &7 JUANT T2k T51 a2l AT TEaT?

MODULARITY
Options:

1. % MURAL
2. % AUDIO
3. ® TRIAD
4, ¥ TRADE

Question Number : 2 Question Id : 54592714344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the following letter series.

K], PO, UT, Z¥, ED, 7
Options:
1. % 1]
o % HI
3 % IH
4 V1

Question Number : 2 Question Id : 54592714344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTRTET STaR Sf@aT § 7 U 1 ST &

EJ], PO, UT, Z¥, EL, 7
Options:
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1. % 1]
2. % HI
. % IH
4 ¥ ]I

Question Number : 3 Question Id : 54592714345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the following letter series.

KOXENYE, XEOKKY, ¥NHOXY, KEXHOK, ¥HHKKO, 7
Options:

1. % HEEHOX

o % OXHHK

3 % HOHKK

4 W OHEEHK

Question Number : 3 Question Id : 54592714345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTRTET STaR Sf@aT § 7 U 1 ST &

KOXKKYE, HEOKKY, XEKOXE, KEXHOK, ¥YHKXO, 7
Options:

1. % HEHHOX

2 % OHEKX

3 % HOHKK

4, & OHHHKX

Question Number : 4 Question Id : 54592714346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manmner. However, one option is MNOT like the other three.
Select the option which is different from the rest.

Options:

1. % Eves

2. % Stormach
3 ® Liver

4. % Heart

Question Number : 4 Question Id : 54592714346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁﬂrﬂgﬁﬁmmﬁﬁitﬂ%qqmﬁﬁﬁﬁaafﬁﬁﬁinﬂqﬁ1gmﬁﬁﬁtﬁﬁﬁﬁmﬂxand%qéﬁaTg:ﬁW%1EﬂﬁﬁmﬁwanERFTm%Gﬁam%Tﬁ
ST

Options:
1. oy
2 % OT
% % g
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4. % g

Question Number : 5 Question Id : 54592714347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manmner. However, one option is MNOT like the other three.
Select the option which is different from the rest.

Options:

1. % vys
2. ¥ PMNL
3 % GDa

4 #® KHE

Question Number : 5 Question Id : 54592714347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qrr%ﬁfﬁﬁﬁﬁ A1 e ST Ji | A 5 BT, U dwed S0 d 1 1 d9g el ol 96 e &1 oo ot ol st o
STET

Options:

1. % vys5
=+ PNL
3. % GDA
4. % KHE

Question Number : 6 Question Id : 54592714348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given options % pairs of words are sirmilarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. # Long : Short
2. % Up: Down
% % white : Black
4. % Hot : Hurrid

Question Number : 6 Question Id : 54592714348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ﬁgw%?wﬁﬁ Seal & 3 ANETT T ©F & TaTeT 5, 3 UF AT ST 9E o W19 51 I AST T AT T A7 AT I F

Options:

1. ® Far: gier
2. % gue AR
=, sgHflﬁ:fq‘:"lﬁﬂ
4 ¥ TH T/

Question Number : 7 Question Id : 54592714349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Select the option that is related to the third term on the same basis as the second term is related to the first
termL

JG  HEL o EDO 7
Options:

1. % HNZ

2. % LED

3. % MSE

4. ¥ [0O4

Question Number : 7 Question Id : 54592714349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I ey 1 = S S g I A el § e W e U U 0E o g rid gl

J&I  HEL @ EoOeZ 7
Options:

1. % HNZ

2. % LED

3. % MSE

4 V104

Question Number : 8 Question Id : 54592714350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first
termn.

Eull : Comr - Dralke : 7
Options:

1. % Sowr

2. ¥ Duck

3. % Doe

4. % Molly

Question Number : 8 Question Id : 54592714350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 e T e e ST S e UG I FR T | Wl g e W | gE uE g Ue o HeltHd gl

qiE T AT ?
Options:

1. % g1

2. ¥ g

3. % gieoft

4 % HET

Question Number : 9 Question Id : 54592714351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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From the given options find a pair of letters which is analogous to the given pair.

PFA : RHC
Options:

1. % TGV : JGP
2. % UUHN : PS]
% % EDC : ORI
4. ¥ QTK : 5¥M

Question Number : 9 Question Id : 54592714351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T et 3 B arat o U SIS B A @, SRy TS e

PFA : RHC
Options:

1. % TGV : JGP
2. % UUHN : PS]
3. % EDC: ORI
4, ¥ OTE : 5¥M

Question Number : 10 Question Id : 54592714352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain coding language, if GO = 105 & SHE = 760 then BAIT will be equal to ?

Options:

1.9 360
o % 380
3 % 400

4 ® 420

Question Number : 10 Question Id : 54592714352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U kT FiET YT # 7fe GO = 105 & SHE = 760 3 T BAIT T sRTaw gimr?

Options:

1.9 360
= % 380
3 % 400
4. % 420

Question Number : 11 Question Id : 54592714353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inn a certain code language "TEARS" i5 written as "23-5-4-21-22" then "SMILE" would be written as:

Options:

1. 22-16-12-15-5
o % 19-13-9-12-5
3 % 22-15-11-14-8
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4 ® 19-12-8-11-5

Question Number : 11 Question Id : 54592714353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T Fig AT A “TEARS" ®1 "23-8-4-21-22" o1 AmT 5, T “SMILE" &1 56 U ToiaT S0
Options:

1.¥ 22-16-12-15-8

2 % 19-13-9-12-5

3. % 22-15-11-14-8

4 % 19-12-8-11-5

Question Number : 12 Question Id : 54592714354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
If LCHWEHC is the code for CLEMNCH then what is the code for PHYSICAL?

Options:

1. % HPSYICLA
= ¥ HPSYCILA
3. % LACISYHP
4, % HPYSCILA

Question Number : 12 Question Id : 54592714354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g CLENCH #T %1 § LCNEHC T PHYSICAL T WIS F47 &7

Options:

1. % HPSYICLA
2. % HPSYCILA
% % LACISYHP

4 ® HPYSCILA

Question Number : 13 Question Id : 54592714355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Arnarn, Pranoy, BEehmarn, Kerxes, Sahid and Zenab are sitting in a row. Sahid and Zenab are in the centre.
Aman and Pranoy are at the ends. Rehman is sitting to the left of Aman. Who is to the right of Pronoy 7

Options:

1. % Aman
= ¥ Herues
2 % Sahid
4. % Zenab

Question Number : 13 Question Id : 54592714355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SR, WO, T, A, Arieg o e U Uie § 33 51 T ot e de § 81 o ol i ST e w8 A e
TS S 3T 51 WU 3 g1 § I a7

Options:
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1. % s/
2. ¥ ST
= % mpig
4 % 39z

Question Number : 14 Question Id : 54592714356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In an Exhibition seven cars of different companies - Creta, Amaze, Fiat, Maruti 200, Mercedes, Ealeno and
Figo are standing facing east. Creta is to the right of Figo. Figo is fourth to the right of Fiat. Maruti 800 is
between AmAze and Baleno. Fiat which is third to the left of Amaze, is at one end. Which car is to the right of
Cretal

Options:

1. % AmAaze
= % Figo

2. % Baleno
4. ¥ Mercedes

Question Number : 14 Question Id : 54592714356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e WE AT H Ty st & | iz, aﬂqﬁ;qanwﬁ*aoqnﬁﬁqaﬁeﬁrﬁnﬁ@fﬁeﬁ?ggf{ﬁq@%%ﬁ et T
e | STE 9 B T, e 3 ar o =T ST T 81 ATeTd 800, ST T aeiT o st 21 e ST ST o g s & e &
U B UT 21 e 3 i i i e T 27
Options:

1. % e

= % fipTr
3. R geet
4  giEH

Question Number : 15 Question Id : 54592714357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A waiting list for adrmission i a certain college is put up. Three friends Ajoy, Bijoy and Chotu are in that list.
There are seven persons between Ajoy and Bijoy and eight persons between Bijoy and Chotu. If there were
three persons ahead of Chotu and 21 persons behind Ajoy and amongst the three Chotu is first what could be
the minirmum nurmber of persons in the waiting list?

Options:
1.9 42
2 % 39
3. % 45
4 % 28

Question Number : 15 Question Id : 54592714357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e T wei | werar o T el tam St Tt v 81 3w gt # /19 gied sy, o ot oy 81 st ot T o e |
T ST T 2l oy & s s %m@ﬁ‘g@rarﬂaﬁ:rwﬁ?aﬁrmanﬁﬁzl T 9 31 o1 B § & Uge e 5
T U T Tt o ~IAa W ST T g AW |

Options:

1.9 42
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> #® 39
I #® 45
4 ® 35

Question Number : 16 Question Id : 54592714358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& series is giverl, with one word missing. Choose the correct alternative from the given ones that will complete
the series.

Doctor, Tornado, Adorable, Elender, ?
Options:

1. # Elemish

2. % Derivate

= % Adopted

4 # Torment

Question Number : 16 Question Id : 54592714358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e e &1 e &, Forad U aree g 1 Tew v fwent # & wEt e o+ S e @ wom

Doctor, Tornado, Adoratble, Blender, 7
Options:

1. # Blemish

2. ¥ Derivate

3 % Adopted

4. ® Torment

Question Number : 17 Question Id : 54592714359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the &th of a month falls on a Friday, 29th of that month will fall on which day of the weelk?

Options:

1. % Sunday

2. % Saturday
% % Wednesday
4. % Thursday

Question Number : 17 Question Id : 54592714359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aafey et T T 6 AR g T, o 9@ W ST 29 qi a3 3 e R g
Options:

1. v T

2. % gfEr
3 % R
4. % TEAR
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Question Number : 18 Question Id : 54592714360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully and decide which of the conclusions logically follomwi(s)
from the staterment.

Staternent.
Those who are educated have an advantage over those who are not,

Zonclusions:
I. Education for some creates unequal opportunities for different groups of people.
II. Before the concept of education society had equal opportunities for different groups of people.

Options:

1. ¥ Cnly conclusion I follows
= % Only conclusion IT follows
3. % Both I and II follow

4. % Neither [ nor I follow

Question Number : 18 Question Id : 54592714360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr Ty e ofT Fw wh eT & g 3 i o foF @ O @ i A ey aviceer €9 € SrgEeor e o)

GRuE
<t T # 38 wreeT & 3 WS A

e
1. 7wt o ToT tée =it & ERg % AT AT AT 0eT Tt A
I1. Tt s STErETRuT H Ugel SHT 3wl o Terferg St & o0 Gar sfead 1

Options:

1. & e et 1 argewor aedr g
2. % e Ty 11 SIge aT g
3 % [ W1 ST g Fd 7
4 % T TR SIJER0 FaT 5

Question Number : 19 Question Id : 54592714361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the question two staterments are given, followed by two conclusions, [ and I1. You hawve to consider the
staternents to be true evern if it seems to be at variance from cormmonly known facts. You hawve to decide which
of the given conclusions, if any, follows from the given statements.

Staternent 1 Some mangoes are apples.
Staternent 2 Some grapes are mangoss,

Conclusion I S0rme mAangoses are Srapes.
Conclusion 11 : All grapes are apples.

Options:

1. ¥ Cnly conclusion I follows
= % Only conclusion IT follows
3. % Both I and II follow

4. % Neither [ nor II follows
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Question Number : 19 Question Id : 54592714361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
mg ¥ g e R o 8, Tadr a1g o v 1 e 1 T Mo 8 et el @ ded AT 5, Hol B I 9 w0 F A9 aedt #
T BN SITeRT O 99 FAT & T TG Y et § w0 A1 e, aie B g, W SgE FaT ol

T 1 FT ATH G 5
T 2 FF AT AT E

ﬁw&fn mﬁmagr%

Options:

1. et Tmepy 1 SIeo #7aT &
2 % e Toead 11 SIe FaT g
3. % [ oIl gFT AgE ad &
4 % U] T SR AT g

Question Number : 20 Question Id : 54592714362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cornplete the following number series:

15, 20, 18, 23, 21, 26
Options:
1.9 24

o ® 31
3 ® 28
4 % 33

————

Question Number : 20 Question Id : 54592714362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

15, 20, 15, 23, 21, 26, ____
Options:
1.9 24
o %321
3. % 28
4 % 33

Mertal Ability 2
Group Number : 2
Group Id: 545927712
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 20
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Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Merital Abilitv 2
Section Id : 545927712
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 545927854
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592714363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1.9 1000
2 % 100
3 % 400
4. % 900

Question Number : 21 Question Id : 54592714363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁ{qn%ﬁaﬁ—nﬁﬁﬁ 1 Ter TS Foier & W 81 §TAT, U [ded ST o 14 1 a¥g Al 51 39 e o7 =a= & =7 9l |
ATETT

Options:

1.9 1000
2 % 100
3 % 400

4 ® 900

Question Number : 22 Question Id : 54592714364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the wrorg nurmber in the given series.

B, 12, 24, 52, 96
Options:
1.9 52
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o ® o4
o % g8
4 ® 13z

Question Number : 22 Question Id : 54592714364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
&1 TTE AT # TTerd G A1

6 12, 24, 52, 96
Options:
1. ¥ 5z
= % 24
3 % 95
4 % 12

Question Number : 23 Question Id : 54592714365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing riurmber in the given series.

10,8, 5, 1,7, -10, -17
Options:
1. % -5
o v -4
3 % 4
4 ® g

Question Number : 23 Question Id : 54592714365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& T AT # g w1 w

10, 8,5, 1,7, -10, -17

Options:

1. ® 5

2 ¥ -4

3 % 4

4 % g

Question Number : 24 Question Id : 54592714366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of numbers are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:
1. ¥ 5y 41

o ® g7 32
3. ¥ 27 B3
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4 % 28 71

Question Number : 24 Question Id : 54592714366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%qmgﬁ?wﬁﬁmﬁfﬁz ST AT & & AT 5, & U FIET AT 9 & Ga1ed ) ST AST B AT T AT AAT AE F

Options:

1. % 58 41
2 % g7, 32
3. ¥ 27 B3
4 % 28,71

Question Number : 25 Question Id : 54592714367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:
1. % 37
= % 47
3. ¥ 57
4. % B7

Question Number : 25 Question Id : 54592714367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%E{T%ﬁfﬁtﬁﬁﬁ, A Ter T Fir & W 2 §TAT, U [eed S o 4 6 a¥g Al 51 39 e 7 =" o AT aree |
STETT

Options:
1. % 37
2. ® 47
3. ¥ E7
4 % B7

Question Number : 26 Question Id : 54592714368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number on the same basis as the second number is related to the
first number.

216 124 2567
Options:

1. % 134

= ¥ 164

3% 144

4. % 154

Question Number : 26 Question Id : 54592714368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
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Zle: 124 2567
Options:

1. % 134

2 ¥ 164

3 % 144

4 # 154

Question Number : 27 Question Id : 54592714369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two s12ns should be interchanged to make the below equaticon mathernatically correct?

T2 x3+8+-4-6=50
Options:

1. % _ 5

2. Wy -

2 % 4 -

4 % - +

Question Number : 27 Question Id : 54592714369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et Tar 7wt & i Y # gyl e O o, e 2 Rl @ e S i dT =i

T2 xI3I+B8+4-6=50
Options:

l.ﬁ—,x

2 ¥y, -

3.$3+,+

4 % - +

Question Number : 28 Question Id : 54592714370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If B#2 = 70, 242 = 40, 1#9=100 then find the value of 2#2 =7

Options:
1. ¥ 50
2 % 10
3 % B0
4. % 70

Question Number : 28 Question Id : 54592714370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afe S#2 = 70, 2#2 = 40, 1#9 = 100 TT2#3 = 7, & Ird AT H1{7
Options:

1. ¥ 50
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= ® 10
z % g0
4 ® 70

Question Number : 29 Question Id : 54592714371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two nurmbers should be interchanged to make the below equation mathematically correct?

2P+ 88+11-2x4=7
Options:

1. 11,22

= % oo

3. % 400

4 % 411

Question Number : 29 Question Id : 54592714371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et TaT T e i & Gy A o A T S et e T S e T AT 2 e

224 BRE+11-2x4=7
Options:

1.v 11,22

o ® ooD

3 % 400

4 % 411

Question Number : 30 Question Id : 54592714372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following figure, square represents pilots, triangle represents Cyclists, circle represents singers and
rectangle represents Chinese. Which set of letters represents pilots who are cyclists?

Options:
1. ¥ GH
o % AR
3 % AC
4. % FG
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Question Number : 30 Question Id : 54592714372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeiET gl # orf uame! @ guidT &, i aETehe anem! &1 SanidT &, I9 Taw! @l ganidT 5 S ST 2iHT @ ganidT gl
STy T W AT HT WA | T ST 5 AT AIE [hed TTAF 57

- = "J
Vb .
/ G \H\
| F | K
\ _ /[Aj ex
RE
D
Options:
1. % GH
> ® AR
S % oAC
4 ® Fg

Question Number : 31 Question Id : 54592714373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following Venn diagrams best represents the relationship between elephants, deer and
carnivoresy

Options:
.-/-_-
g |
%
1 # \_ _){__,f"
| ."I
= LY AN - s ry
3 % i

LD

Question Number : 31 Question Id : 54592714373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o & 1 97 o T BT, et of mraTgTieat o siie o Here W Hae aRw gaidr g7

Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

|'/f_-f\§

Question Number : 32 Question Id : 54592714374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

L and M start cycling from the same point. L cycles 23 ki North, then then turns to her right and cycles 3 ki,
In the meanwhile M cycles 7 kur East, then turns South and cycles 10 krm, then turns right and cycles 4 km,
where is L now with respect to the position of M7

Options:

1. % 23 km MNorth
2. % 23 km South
2. % 18 kmMNorth

4. % 18 km South

Question Number : 32 Question Id : 54592714374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

L e M wgﬂﬁgﬁmaﬁm T & T 8 L 23 krn S § @5id aermd 1 g, T a0 318 51 g2a 1 & 81 3 ko A1 et
T 31 A et M 7 kon U H angierer ST 8, T STET Y o geat € 8l 10 ken WS T =eT B, T a0 g2daT R e 4
krm) ATE R AT 81 L, M T T & geer # 21 el 27

Options:

1.9 33 km 3%
2. % 33k =iEm
3 % 16 km I

4 ® 18 lkmn =&

Question Number : 33 Question Id : 54592714375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An engineer is surveying a land. He is facing the scuth-east direction. He turns 180 degree in the clockwise
direction, then 90 degree in the anticlockwise direction and then turns 90 degrees to his left. Which direction is
he facing now?

Options:
1. # South-West
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= % South-East
= # PNorth- East
4. % MNorth-West

Question Number : 33 Question Id : 54592714375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T St T2 e TE 9T Hci 807 ¢ 151 o] S0 U oiav-Ud foam 8 21 a5 val @l fgam # 130 121, T ammad feam f 90 1210
I T A5 A1 90 12T g2 a7 81 39 4E ot e A H g7

Options:

1. % gigor-aEm
o ¢ gigm-gd

3 % Fu-md

4 % v -ukRm

Question Number : 34 Question Id : 54592714376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ot of the four options three are similar in a certain way and one is different. Find the option which is
different.

Options:
¥
v d
& O

1. %
oRY
® @
= R Ele
®@O
VvV
3 D80
L) L)
®O®
&
4 % a A

Question Number : 34 Question Id : 54592714376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Tewent # & &= wer TS T § 9 5 o U ST 51 JF T Swey g

Options:
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GET IT ON
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Question Number : 35 Question Id : 54592714377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0.25

Select the image that is related to the third image on the same basis as the second image is related to the first

A ge.

LR
LR
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Question Number : 35 Question Id : 54592714377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Tiel 1 T D AT AT Flel I AR T Gared 5 e W | GEe wie uge! gie & Hell€d gl

Question Number : 36 Question Id : 54592714378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The two figures given in the question are similar in a certain way. Only one figure from the options is simmilar to
the two figures given in the question in the same way. Find that figure.

OAOA
mE|w O

Options:
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L
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0 @
o ®
ay(),
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Question Number : 36 Question Id : 54592714378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
weg # T T AT UF ST auer § 9ee 8 Hwenl # & Sad U SEi, JE 9eg @ W § ST NE S gl & qA 81 239
T T T AT H

OAOA
mE|w O

Options:

® O
o8

1.9

P> <
I @

a@®
B
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Question Number : 37 Question Id : 54592714379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a cube is painted wellow o three adjacent sides and red on the other three sides and cut into 64 smaller

cubes, then how many such smaller cubes will have one side red and one side yellow and no paint on any
other sides?

Options:
1. % 1¢
2 % g
3 %5
4 ¥ 12

Question Number : 37 Question Id : 54592714379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fe U O 1 1 ST T1ES @1 Uit T F T 197 & 3 &g 19 a0 @ 07 F 37 39 64 F1¢ o4t § &2 ST Jmar g, ar e
ToFa= ¢ o9 H UF a¥F AT o U a9 Uier o ot ff e AEs o 1 de agf gim?

Options:
1. % 1g

> ® g
3 ® g
4 ¥ 12

Question Number : 38 Question Id : 54592714380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following answer figures completes the pattern shown in the question figure?

Options:

L

1 %
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Question Number : 38 Question Id : 54592714380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEHET # & &9 9 30 AT, W Mg H gy My Ued i T #eat gy

Options:

NN Y K

4

Question Number : 39 Question Id : 54592714381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

A piece of paper is folded and puriched as shown below in the question figures. From the given answer
figures, indicate how it will appear when opened.

e

Options:

1 ®
,_s.:w.a_@.”i
5

3 ¥
e )
Sy
quo
4

Question Number : 39 Question Id : 54592714381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e Tpd B e Ty SIa UUE & T B HISe JaH og o T 31 S T8 IY s €, 3T @ 5 @i 9 W ag

B feamg gm

Options:
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Question Number : 40 Question Id : 54592714382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Farts given in which option can be joined to create the pattern given in the question figure?

Options:
[ | (1 1] [ ] ]
[ b I ]
|| 1
1.9
i i | E
J [ | | ]
o #
] [
1L [ | | |
3 % B
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Question Number : 40 Question Id : 54592714382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e AT Ta H Ty T e e & B @ & ey e A1 " 5

Options:
[ ] 1] [ ]
R dhf
1. ¢ N
iz . ll__|
I H 1
o W
| 1 T
1L l L
3 % B
[ l
| -
4 %

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

General Awarenessl

3
545927713
0

0
No
No
0
20
Yes
0

0

General Awarernessl
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Section Id : 545927713

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 545927855
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592714383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eolkali is a farmous dance form associated with

Options:
1. #® Meghalava
2. ¥ Lakshadweep

= ® Tripura
4, % Manipur

Question Number : 41 Question Id : 54592714383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FiAFAT ______ o ST U Hiehg 7o 2l
Options:

1. % fawg

o o Fydm
3. % faga
4 % g

Question Number : 42 Question Id : 54592714384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HMirgurii Lavani 15 usually ______ 111 riature.
Options:

1. ¥ historical

2. % social

=. ¥ philosophical

4 % sensual

Question Number : 42 Question Id : 54592714384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torfoft wrmeft et ox wepl # ______ H

Options:
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1. ® Ofggriee
o, ® g
=, ¥ i

4 % FgF

Question Number : 43 Question Id : 54592714385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Charminar is situated on the eastern banks of the Fiver wath the Malla Masjid.

Options:
1. % Musi

= #® Krishna
3. % Tapti
4. % Mahanadi

Question Number : 43 Question Id : 54592714385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=AY gt Afesrg & &mer ______ &7 3 7T 9T W e
Options:

1. gt

o, % g

z. % gt

4. % mWETT

Question Number : 44 Question Id : 54592714386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following is also knowr as yellow festival?

Options:

1. % Losar

2. % Pongal

=, ¥ Basant FPancharmi
4 % Maha Shivratri

Question Number : 44 Question Id : 54592714386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 7 9 T fie c2ig™ & =7 § o 7 e 87
Options:

1. % #@ww

o ® gima

=, ¥ TEg Tl

4. % mET Ty

Question Number : 45 Question Id : 54592714387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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It was only in 2001 that finance minister Yashwant Sinha changed the practice and the budget began to be
introduced at

Options:

1. % gam
2 ¥ 11 am
Z % 4pm
4 % gpm

Question Number : 45 Question Id : 54592714387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2001 # 31 T2 At I99aT 95T o 56 W 1 a2 (o T T
Options:

1. % 9 uaig

Thar TeRT ST Fm

Question Number : 46 Question Id : 54592714388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The minirmum support price for paddy isRs _____ per quintal for 2019-20 crop season.

Options:

1. % 1835
= % 1825
3. v 1815
4, % 1545

Question Number : 46 Question Id : 54592714388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019-20 % Had HIaq & 67 o7 F7 ~0ay aue= 0ra _____ 7 0id e gl

Options:

1. % 1835
o % 1825
3. ¥ 1815
4 % 18545

Question Number : 47 Question Id : 54592714389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first bank in India was the

Options:

1. ¢ General Bank of India
2. % Bank of Bombay

Z. % State Bank of India

4 # Central Bank of India
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Question Number : 47 Question Id : 54592714389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT | UEAT e m

Options:

1. & T o oTw gh2ar
2. ® ofm ATE ST5l

z ¥ qrdg T d®

4 ® Hoe o Tw giEa

Question Number : 48 Question Id : 54592714390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which law states that the rates of diffusion of gases are inversely proportional to the square roots of their
densities under similar conditions of temperature and pressure?

Options:

1. ¥ Graham's Law
2. % Kepler's Law
3. % Charles's Law
4. ¥ Bovles's Law

Question Number : 48 Question Id : 54592714390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
?ﬁﬁwﬁmw%ﬁﬁﬂﬁﬁwﬁawaﬂ?gﬂﬁfﬁwﬁﬁﬁ%ﬁmmﬂﬂa%w&%ﬁaﬁmﬁ?ﬁ

Options:

1. TEA & A
2 ® P T T
2 ® gwd %7 ar

4. ® FTge @ Ty

Question Number : 49 Question Id : 54592714391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich type of ore is Zinc?

Options:

1. % Oxide

2. ¥ Sulphide

2. ¥ Carbonate Cres
4. % Halide Cres

Question Number : 49 Question Id : 54592714391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IEERETR Ea A D
Options:

1. % affgaEs
= ¥ grEEs
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3. ® gEide areE
4, % FifeiE smww

Question Number : 50 Question Id : 54592714392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Capra aegagrus hircus is the scientific name of ______
Options:

1. goat

2. % donkey

3 % dog

4 # cow

Question Number : 50 Question Id : 54592714392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T I Teeerer ______ T AT ST 2l
Options:

1. v g

o % omar

3. % gar
4. % Ty

Question Number : 51 Question Id : 54592714393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The part of the flower which receives pollen grains during pollination is ______.
Options:

1.+ Stigma

2. ® Leaf

3. % Stomata

4. % Chlorophyll

Question Number : 51 Question Id : 54592714393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el T g AT AT OEI0T o 0 T 0Tt T 0T 9d T, 98 ______ H
Options:

1. ¢ Tezmr

o B ot
I3 ® o
4 ® FHART

Question Number : 52 Question Id : 54592714394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The part of the plant that vields saffron spice is the

Options:
1. % stigma
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= % bark

= ¥ stemn
4 ® geaqd

Question Number : 52 Question Id : 54592714394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 9T Ty BT ST R AT ST, g9 2l
Options:

1. e

2 % g

3 ® g

4 % Fr

Question Number : 53 Question Id : 54592714395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
M5Wh stands for
Options:

1. % Municipal Solid Waste Management

2. ® Management for Sanitation and Waste Municipality
% % Municipal and Sanitation of Waste Management

4. % Municipal 5olid Waste Manage

Question Number : 53 Question Id : 54592714395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IS W T HTGHTRT ______ H

Options:

1. ¢ YA diieis o §=He

2. % AT B AT U2 e wH e
3. % WHTUE U @ e o BT
4 % AT Hiiee oo i

Question Number : 54 Question Id : 54592714396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the standard pulse rate?

Options:

1. ¥ 70 pulses/min
2. % £9 pulses/min
3. ¥ 72 pulses/min
4. % 75 pulses/min

Question Number : 54 Question Id : 54592714396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT e 3¢ FAT 57
Options:
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1. % 70 veg) i
2. % g9 ura) AT
3. ¥ 72 Ued| T
4. % 75 urq) Hee

Question Number : 55 Question Id : 54592714397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pench Mational Park is situated in

Options:
1. % Tamil Nadu

= % Uttar Pradesh
S ¥ pssam
4, ¥ Madhva Pradesh

Question Number : 55 Question Id : 54592714397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T FE o e 8
Options:

1. % ghe g

2 % FEUgd

2 % =@y

4. gy A

Question Number : 56 Question Id : 54592714398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The river Ganga is formed by the confluence of two rivers and Alaknanda at Devprayag.

Options:

1. ¥ Brahmaputra
2. % Indus

%. ¥ Ehagirathi

4. % Mahanadi

Question Number : 56 Question Id : 54592714398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST H T ST ARt 31T STF-IaT o HITH & F=41 51
Options:

1. % spma

2 % Ty

= ¥ it

4. ® ggHer

Question Number : 57 Question Id : 54592714399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mount Elbert is the highest point of the


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Options:

1. % Atlas

2. ¥ Rockies

Z. % Eastern Ghats
4 % Elbruz

Question Number : 57 Question Id : 54592714399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HTIT L]rrﬂé ______ T Ig[dH ﬁ:@%
Options:

1. % qeeg

2 o T

3 % mEiaw
4. % Teg

Question Number : 58 Question Id : 54592714400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ 15 also known as ‘riverine soil’ as it is found ITJEliI'll‘j.T in river basins.
Options:

1. ¥ Red soil

2. ® Elack soil

= ¥ Alluvial s0il

4 # Laterite soil

Question Number : 58 Question Id : 54592714400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ T T |iger & A0 o o T AT & Al 9 §ET & € Ao e U% 078 AT 8]
Options:

1. % e fst

2. % ol gy

3. ¥ FEW S HET

4, % Free gy

Question Number : 59 Question Id : 54592714401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Berrmuda Triangle is located inthe ______ OCEATL.
Options:

1. ¢ atlantic

2 % Pacific

3. % Arctic

4 % Indian

Question Number : 59 Question Id : 54592714401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ arEAid®
2. % mana

3 ¥ FueEE
4 % 5T

Question Number : 60 Question Id : 54592714402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MNepal shares its border with five Indian states - Sikkirn, West Bengal, Eihar, Uttar Fradesh and

Options:

1. ¥ Madhya Pradesh
2 % Odisha

3. % Assam

4. ¢ Uttarakhand

Question Number : 60 Question Id : 54592714402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SUTA ST HIAT U A 1 Tt - s, i &, "R, s udar v __ o T |7 HEAT 51

Options:

1. % maued
= % aifEam

3 % amA

4 o FTEE

Gerieral AvwaArenesss

Group Number : 4
Group Id: 545927714
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessz

Section 1d : 545927714
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 545927856
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592714403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The largest producer of cotton in Indiais ______.
Options:

1. ¢ Gujarat

2. % Kerala

3. % Assam

4. % West Bengal

Question Number : 61 Question Id : 54592714403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
RT H T F1 Fa 957 JeUSd

Options:

1. TRT

2 ® 4

3 % amA

4 % g S

Question Number : 62 Question Id : 54592714404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who founded the All India Trade Union Congressy

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. M.M. Joshi with NM Joshi

2. Lala Lajpat Ray & Ray Chaudhary

=. Motilal Nehru & Ray Chaudhary

4, Bhagat Singh & Ray Chaudhary

Question Number : 62 Question Id : 54592714404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST | 19 HoTd Gl FIUE ol TITAAT T hi?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. U9 T\ AT & 0 T e

2 FTEAT S0 O A e
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=, ANTATE "5 ol ¥ e
4. T g afte T e

Question Number : 63 Question Id : 54592714405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the finance consultant at Albar's court?

Options:

1. % Todar Mal
2. % Abul Faizi
Z. % Eirbal

4, % Miyan Tansen

Question Number : 63 Question Id : 54592714405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST o XA H o AATEEI i 277

Options:

1. v Tzt ad
2 ® argd Bt
3 % FREw

4 % T aEEd

Question Number : 64 Question Id : 54592714406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the Hindu Widow BEermarriage Act passad?

Options:

1. % 1839
= % 1852
3. ¥ 1856
4 % 1862

Question Number : 64 Question Id : 54592714406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tog, TereaT gateiay arferi-rem @ i e mar ar

Options:

1. % 1839
o % 1850
3. ¥ 1856

4 ¥ 1862

Question Number : 65 Question Id : 54592714407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the leader of the Great Revolt of 1857 in Barrackpore?

Options:
1. ¥ Rani Laxmibai
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2. ¥ Mangal Fandey
% % abdul Ali Khan
4. % Amar Singh

Question Number : 65 Question Id : 54592714407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A H 1857 &F U5 Tdgig & =aT & 47
Options:

1. ® ¥ AemEs

o ¥ A g

2. % STege Al GH

4. % s R

Question Number : 66 Question Id : 54592714408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the successor of Chandragupta [7?

Options:

1. ® Ashoka

2. % Eallala Sena

2. % Vikramaditya
4, ¥ Sarmudragupta

Question Number : 66 Question Id : 54592714408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TGITA | T JUCITEPTC i 477

Options:

1. % sy

2. % grele o
z % ey
4. ¥ g

Question Number : 67 Question Id : 54592714409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Futuhat-e-firozshahi is the autobiography of

Options:
1. % Firoz Shah Tuglag

2. % Muhammad Tughlag
% % Ghiyasuddin Tughlag
4. % Moharmmad Khan

Question Number : 67 Question Id : 54592714409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
- - TRereramgt T STTCTERT 2]

Options:
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1. T o e
2. ¥ g g
3. ¥ Tonge g
4. % gz aEq

Question Number : 68 Question Id : 54592714410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who 1s also known as Narendra?

Options:

1. % Swmami Vivekananda

2. % Mahatma Gandhi

3. ¥ Subhash Chandra Bose

4. ® Jawaharlal Mehru

Question Number : 68 Question Id : 54592714410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt g & AT & o ST SET R

Options:

1. & T ddwg
2. % mEren et
z % gumdg ae
4, ¥ FAEAATA A€

Question Number : 69 Question Id : 54592714411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& Paramyir Chakra winner or his kin gets a monthly compensation of a rmonth.

Options:
1. % ms 25000

= ® Rs 30,000
= ¥ BsE0,000
4 % Rs 20,000

Question Number : 69 Question Id : 54592714411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTHA T e T T AT F6 i ol He i |

Options:

1. % 25000 &0
2. % 30,000 T
3. % 50,000 TOT
4, % 20,000 w0

Question Number : 70 Question Id : 54592714412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 'Accidental Prirme Minister' 15 written by
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Options:
1. ¢ Sanjaya Baru

2. % Udavya Tara MNayar
3. # anjali Joseph
4, % Cyrus Mistry

Question Number : 70 Question Id : 54592714412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ R T 2ed WEH Tif-eey fomr mm 21
Options:

1. v g e

2 % FEIATIRTARK

3 ® aFie FEE

4 % [y HeE

Question Number : 71 Question Id : 54592714413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The League of Mations was founded in to keep the peace after World War I

Options:

1. % 1902
= ¥ 1919
3 % 1921
4, % 1905

Question Number : 71 Question Id : 54592714413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tora Qg 1 o AT, AT ST T o Tl <18 6 &l ST

Options:
1. % 1902

> ¥ 1919
3 % 1921
4 % 1905

Question Number : 72 Question Id : 54592714414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Three Musketeers' 15 written by

Options:
1. % Jules Verne
= # Charles Dickens

= ¥ Alexander Dumas
4 # Danisl Defos

Question Number : 72 Question Id : 54592714414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® srgad

2 % ged fZE

3. ¥ ST S
4 % e 2wt

Question Number : 73 Question Id : 54592714415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____________ is the largest domestic cormrmunication systerrl in the Asia-Facific region.

Options:

1. ¥ INSAT
o % [SRO
3. % IGNOU

4 ® [PDC

Question Number : 73 Question Id : 54592714415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UTSRT-Hand &= § Gad w2l O] S WeT 2l

Options:

1. ¢ gdT

2 ® e

3 % g

4 % g urErEmn

Question Number : 74 Question Id : 54592714416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Article 170, the number of seats in the Legislative Assermbly of each state to consist of not more
than

Options:

1. % 450
2. ¥ 500
3. % 5og
4. % 00

Question Number : 74 Question Id : 54592714416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey 170 & S, Uedd T4 i Teherr= @t # et & g

Options:

1. % 450
= ¥ 500
3. % gog
4. % 500
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Question Number : 75 Question Id : 54592714417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the minirmum age limit for employment in a factory?

Options:
1. ® 16 years

2. % 10 vears
= ¥ 14 years
4 % 18 vears

Question Number : 75 Question Id : 54592714417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt T H TR o 160~ 8 ST | =T 7

Options:

1. % 16 a9
2 % 10
3 v 1499
4 % 1gad

Question Number : 76 Question Id : 54592714418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Konlani, Manipuri and Nepali hawe been added a5 languages in the

Options:
1. ¥ 5th

= ® oth
= # 10th
4 ® 7th

schedule of the 71st amendment.

Question Number : 76 Question Id : 54592714418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
CAEAU TR 00 e D L) 1 e I e i O B ST H Tt 3 w9 H ST T 8

Options:

1. v 54
2 % o
3 % 104
4 % 74

Question Number : 77 Question Id : 54592714419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Article 171, the total number of members in the Legislative Council of a State shall in no case be
less than

Options:
1. % 35
= W 40

z % g0
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4 # 70

Question Number : 77 Question Id : 54592714419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
aetg 171 & argan, Tt T & foeme oivee, o g dgea ot e o TR

Options:
1. % 35

o % 40
3 ® B0
4 ® 70

Question Number : 78 Question Id : 54592714420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Who wor Indonesia Open BWF Tour Super 1000 tournanent??

Options:

1. % PV Sindhu

2. ¥ Alane Yamaguchi
= # Shane Lowry

4 % Saina Nehwal

Question Number : 78 Question Id : 54592714420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST & BWF §€ g0 1000 gAHe fare Siare
Options:

1. % ot fy

2. ¥ ST AT
3. ® g

4. ® AT "5

Question Number : 79 Question Id : 54592714421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

International Cricket Council has suspended
its running of the sport.

Options:

1. % afshanistan
2. % England

3. ¢ Zimbabwe
4. % Netherlands

for failing to ensure there is no government interference in

Question Number : 79 Question Id : 54592714421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g fophe ol = ______ T TE G F T 5 & o] Fieted @ G o S & GTed | B1s S gead gy J gl
|

Options:
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1. ® armmieaT
o ® TIEE

3. e
4. ® derdz

GET IT ON
Google Play

Question Number : 80 Question Id : 54592714422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The 215t Corrmnonwealth Table Tenrnis Charmpionship ook place i

Options:
1. % Mumbai

= #® New Delhi
= % Cdisha
4, % Gujarat

Question Number : 80 Question Id : 54592714422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 11 TEHEH dard & e DT
Options:

1. % gag

2 % 92 fwet

3. ¥ afffEar

4 ® TERIT

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:

Arithrmetic Abalityl

5
545927715
0

0
No
No
0
20
Yes
0

0

Arithmetic Abilityl

545927715
1

Online
Mandatory
20

20

20

Yes
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Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927857
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592714423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify: (3.5 x4.25) + (275 x3375) =7

Options:

1. % 238/145
2. % 136235
3 % 140337

4 ¥ 47R|297

Question Number : 81 Question Id : 54592714423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT (35 X 425) - (275 X 3.375) =7

Options:

1. % 2381145
2 % 136235
3. % 140337
4. & 4761297

Question Number : 82 Question Id : 54592714424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the greatest number that can divide 79, 96, and &5 leaving remainders of 4, & and & respectively ?

Options:
1. ¥ 15

o ® 17
z % 19
4 ® 13

Question Number : 82 Question Id : 54592714424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tl G 71 &, A1 FH: 79, 96 oW 65 & i ®4ar 9 4, 6 3T 5 12 a1 27

Options:
1.9 15

> %7
3 % 19
4 # 13

Question Number : 83 Question Id : 54592714425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
Find the LCM of 43, 5/Z2 and 6/13 7

Options:
1. % 75

= W B0
3 % 1/78
4 ® 1(80

Question Number : 83 Question Id : 54592714425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
413, 512, #6135 % TgcH THIad & AT F17

Options:
1. % 78
2 ¥ B0
3 % 178
4. % 1/60

Question Number : 84 Question Id : 54592714426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
simplify: v121 + /(110 + /36 + /251 =7

Options:
1. 22
o %21
3 % 20
4 % 19

Question Number : 84 Question Id : 54592714426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WA /121 + /[110+/36++/25) = 7

Options:
1.9 2o
2 %21
3 % 20
4 % 19

Question Number : 85 Question Id : 54592714427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the HCF of 40/1Z2, Z6/20and 32/18.

Options:
1. % 1172

= ® 45
T v 145
4 ® 72
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Question Number : 85 Question Id : 54592714427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4012, 36/20 3 32|18 T AgdA ST & AT1d &)

Options:
1. % 1172

= ® 45
T v 145
4 ® 72

Question Number : 86 Question Id : 54592714428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¥ and Y are 2 numbers such that their ratic is 2:3, is 2 ; Z and their HCF is 10, Find the LCM of the numbers?

Options:
1. % 50
2 ¥ B0
3 % 40
4 % 70

Question Number : 86 Question Id : 54592714428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ AR Y 2 g U o g, W argu 2.3 § &l 3@ fgay auaded 10 31 SErelf & @gcd SHe & AT 7
Options:

1. % 50

2 ¥ &0

3 % 40

4. % 70

Question Number : 87 Question Id : 54592714429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Findvalueof xif 7 - x+ (3 x31-5=5

Options:
1.v7
o R 72
3 % 703
4 % 74

Question Number : 87 Question Id : 54592714429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I FaAad e arg 7+ x + (3 x3)-5=75
Options:

1.¥7

o %7

3 % 73

4 % 714
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Question Number : 88 Question Id : 54592714430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify: 1{1 x1+2x(2+3) x4+4 x4 =7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1112

2. 96

= 54

4. 108

Question Number : 88 Question Id : 54592714430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT L{l X1 +2 X2+ xd+4 x4 =7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1112

2 96

3 54

4. 108

Question Number : 89 Question Id : 54592714431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following three nurnbers have LCM 144 and HCF 127

Options:

1. % (24,30 386)
o ¥ (24 48 36)
3 % (15,30,36)
4. % (24 30 47)

Question Number : 89 Question Id : 54592714431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeET 19 a8 9 fore @7 alged SAmad & 144 oW Agad auad & 12 27

Options:

1. % (24,320,386
2 ¥ (24,458 36)
3. % (18,30,36)
4. % (24,30 42)

Question Number : 90 Question Id : 54592714432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the HCF of 40, &, 60, 42

Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

1. % 4
2. v
3 %o
4 % 3

Question Number : 90 Question Id : 54592714432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
40, 55, 60, 42 T HEaH THTTE & 1T F4

Options:
1. % 4
2. ¥
3 %D
4 % 3

Question Number : 91 Question Id : 54592714433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the average of the first four triple digit prime numbers.

Options:

1. % 100
2. ¥ 105
3 % 110
4 % 120

Question Number : 91 Question Id : 54592714433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. % 100

2.« 105

3 % 110

4 ® 120

Question Number : 92 Question Id : 54592714434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three circles have an area of 4m, 9mand 25w 5q cIn respectively. Find the average of their radius?

Options:

1.¥ 333cm
2. % 466 cm
2 % ceom

4 % 5 E4cm

Question Number : 92 Question Id : 54592714434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T I BT STBA FES 4, 9 AR 251 5q om W E I aT AT J @iy
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Options:

1. ¥ 333cm
2. % 466 cm
3. % Som

4 % 5 54cm

Question Number : 93 Question Id : 54592714435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ram sold 10 pens for BEs. 1 each. At end of day, he sold & pens at Rs. 10 and gave 4 pens for free. Find his
average selling price.

Options:

1. ¥ Rs. 0.82
o ¥ Rs 091
% % Rs. 0.88

4 ® Rs.0.94

Question Number : 93 Question Id : 54592714435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T = Wid U e 2y & Tede & 10 U9 & feT o elg 36 102U 8 U o T, Sarfer 4 U9 o | o Sae el ekt
PR G T

Options:

1. % 08270y

2. ¥ (0,91 w0

3. % 0gs @y

4 % 094wy

Question Number : 94 Question Id : 54592714436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rohit scored 96 runs in 80 balls. If 24 runs were scored in 4 balls, what percent runs out of total runs were
scored in the remaining bhalls?

Options:

1. ® 70 percent

2. % 7250 percent
3. ¥ 75 percent

4, % 77.50 percent

Question Number : 94 Question Id : 54592714436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TifET = 80 Tt # 96 T 9 IS 4 Tigf # 24 79 a9 WY, 91 g9 et o g oA o F Tra uidad = e

Options:

1. % 7oudaT

2. % 7250 nide
3. ¥ 7o UdaT

4 #® 7750 uidaT
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Question Number : 95 Question Id : 54592714437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the side of a square is doubled, percentage increase in area = 7

Options:

1. % 200 percent
2. % 300 percent
3. % 400 percent
4. % 300 percent

Question Number : 95 Question Id : 54592714437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

<t Tt ot T T ST W AT AT B, 97 S H Hidad Jhg = 7
Options:

1. % 200 uidem

2. ¥ 300 ofdaT

3. ® 400 HidsT

4 # g00 Ui

Question Number : 96 Question Id : 54592714438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A custormer buys petrol at BEs. 70 per litre. He gets a 10 percent discount on his credit card and 2 percent
reward. What percent petrol does he pay for?

Options:

1. ¥ §2.50 percent
2. % 75 percent

3. ¥ BB percent

4, % 90 percent

Question Number : 96 Question Id : 54592714438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TTEeF 70 T Hid aiiet UZict AigdT a1 38 20 Fiac ®1 WX 10 Widad &1 g¢ oI 2 Uided @7 e HedT 21 o% fora- nida
U et T T FaT 57

Options:

1. % g2.50 uidea

o % 7 uigaT
Z. ¥ SR OdaT
4 # g0 uigaT

Question Number : 97 Question Id : 54592714439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& car was purchased for s, 1,000,000 and Rs. 10,000 was spent on repairs. The car was then sold at Rs.
1,32,000. Find the net profit percent?

Options:
1. ® 32 percent
2. % 2% percent


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

2. ¥ 20 percent

4 % 16 percent

Question Number : 97 Question Id : 54592714439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T FC 1,000,000 07 H @G 78 & 3T 10,000 T AXTHT O S 41 727 &M %K a0 1,532,000 07 # st 78 o $eg &
PIGEI G ICRE T

Options:

1. % z2 i
2. % 25 uide
3. ¥ 20 nideT
4. % 16 uideT

Question Number : 98 Question Id : 54592714440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A shoplkeeper buys peanuts at Rs. 450 per kg, and sells it in packets of 50 g. Each packet costs a additional
Rs. 0.5 At what price should he sell each packet of peanuts to make 10 percent profit?

Options:

1. % Rs 23
2 ¥ Rs 253
2. % Rs 21

4. % Rs 275

Question Number : 98 Question Id : 54592714440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T gFHER 450 Wi kg 707 HIGT TOSAT § 3T 77 50 g & ¥ # SmaT 81 vl e W A o 0.5 70y 7T 81 10
Wi ald ST W o TR 38 Wil o Wedish Tefe 1 TeRd Hrd U sl =g

Options:

1. % 23307
= ¥ 25 3 %0
3 % 2190
4. ® 275 %0

Question Number : 99 Question Id : 54592714441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& food shop sells burgers at Bs. 50 and cold drinks at Bs. 40, If he sells both in a combo at Rs. 80, then what
is his loss percent in selling the combo?

Options:

1. % 10 percent

2 9 11.11 percent
3. % 1250 percent

4 % 15 percent

Question Number : 99 Question Id : 54592714441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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T ST # Aie 50 B0 ST E27 U 40 $U0 H Sf=I7 AT 31 1S GRS U Gobd # ST 80 20 # eod T g, a1 Firl elzid §

FEHT T FT AT faraqr 27

Options:

1. % 10l

2 ¥ 1111 nidem
3. % 12500
4. % 15 uidaa

Question Number : 100 Question Id : 54592714442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ifa, b, ¢, darein proportion, and @ +b):a:: @ +c): d, find d?

Options:
1.¥d=0b
2% d=a+b
T ¥d=a-b
4 v d=a

Question Number : 100 Question Id : 54592714442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afga, b, o, d aquTidw S @+ b a: @ +c):d, daaHe

Options:

1. %¥d="b
% d=a+b
. ®¥d=a-b
4 ¥ d=a

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Arithmetic Abilityz

6
545927716
0

0
No
No
0
20
Yes
0

0

Arithrmetic Aalityz2
545927716
1
Online
Mandatory
20
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Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927858
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592714443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the ratio between the sum and product of the first two double digit prime numbers.

Options:

1. % 11153
o ¥ 24143
3 0% 12143
4 % 2113

Question Number : 101 Question Id : 54592714443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

URel o G i STferTr SEaralt & T 3T JouTe, o siel %1 AU =1 )
Options:

1. % 11:13

2. % 24143

3 % 12143

4 ® 2113

Question Number : 102 Question Id : 54592714444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a square and circle have the same measure of side and radius, calculate the ratio of their areas?

Options:

1.v1:314
2 % 31411
3 % 44 49
4 % 49 44

Question Number : 102 Question Id : 54592714444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e U a7t oY g W U BT A5 o T B, 91 39k & % SIguTd @1 0T

Options:

1.91:3.14
2 %3141
3 % 44 49
4 % 49 44
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Question Number : 103 Question Id : 54592714445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rekha invested Rs. 1000 at beginning of each year for 2 yvears. She received Bs. 36800 after 3 vears, what is
the rate of simple interest per year?

Options:

1. ¥ B percent
= % B percent
3.9 10 percent

4. % 12 percent

Question Number : 103 Question Id : 54592714445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T YBT3 WA a0 Heder o 1000 F00 TH4erer {3 &1al o el 38 3600 S UTH FU, Wid o STeeur sar 1 &% #4157

Options:

1. % g e
2. % guidaT
= ¥ 10 nide

4 # 12 o

Question Number : 104 Question Id : 54592714446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& loan of Rs. 4000 was partly lent at S percent and partly at € percent simple interest for 2 years. If interest
earred is Rs. 430, find the amount lent at & percent?

Options:

1. % Rs 1500
=z % Rs 2000
3. % Rs 2500
4. % Rs. 20000

Question Number : 104 Question Id : 54592714446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

4000 AT T FLOT AT &0 @ S Uidad & ide 0 8 & Witad STem s4m= 0 2 #3760 o 600 FH S mar om s arg
T 430 T & 97 6 Wd9T U7 T o TS 21187 19 7

Options:

1. % 1500 zu7
2. % 2000 Fg
I % 2500 7Oy

4. % 30000 7

Question Number : 105 Question Id : 54592714447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& loan for Rs. 60,000 was paid after 1.5 vears on a loan of Bs. 50,000, Find the rate of simple interest?

Options:
1. % 11.11 percent
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2. % 1222 percent
3. ¥ 13 323 percent
4, % 14 44 percent

Question Number : 105 Question Id : 54592714447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
50,000 T FTF 1.5 a4 § 60,000 T HTT TN AR w201 61 &7 AT FL7

Options:

1. % 11.11 nidse
o % 1222 uideT
= ¥ 1333 nideT

4 ® 14 44 gigaT

Question Number : 106 Question Id : 54592714448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& passenger train and an express train depart from their stations located 250 km apart towards each other.
when they meet in between, the express train has covered a distance of 200 k. What is the ration of their
Speeds?

Options:

1.%1:2
2 % 203
3. v 34
4 % 154

Question Number : 106 Question Id : 54592714448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ATAT {FITIS T 31 T Uehaie Selie ! 350 krry i gl 0T W9 St €eaHT § U Gat 1 371¢ e @d | g1 ofel of o= H THer
%, 01 QFeUE &1 200 kary i G T2 ®dl g1 Ikl Tid A1 4 41 57

Options:

1.%1:2
o % 2.3
v 34
4 % 154

Question Number : 107 Question Id : 54592714449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr much distance can a cheetah cover in 1 minute if it runs at an awverage spead of 50 km/h?

Options:

1. % 500m

2 ¥ 33333 m
3 % 566.66m
4. % 900m

Question Number : 107 Question Id : 54592714449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
S0 krn/h @ site i | Sie- ot 1 fiee # =T et gE 9 # qedr 57

Options:
1. ¥ 300m

2. % 333.33m
3. % ZEE.EE M
4. % 300 m

Question Number : 108 Question Id : 54592714450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& bird can fly at an average speed of 20 kmfh. After flving for 2.5 hours, its speed got lowered by 10 percent.
Afrer flving for another 0.5 hours, the bird rested for 1 hour. What is the average speed of the bird for the day?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. 16 km/h

2 18 km/h

3. 19 km/h

4. zZ0 kmfh

Question Number : 108 Question Id : 54592714450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Tat 20 krnfh & T T E I AWt 91 2.5 O & W I29 WA & J1e, 5T M 10 TideT w9 5T TE, ST 0.5 O a@
am:rmfr%ﬁm Tt 1 O o T S e sﬂﬁﬁfﬁmw&ﬁﬁmaﬁfz ST H 45 km & I2H 9 39 e o,
Tt &t affer i T Y

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 16 kmih
2. 18 kmth
> 19 kmih
4. 20 kmih

Question Number : 109 Question Id : 54592714451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

15 wornen pluck 225 kg tea leaves by working for 6 hours. How rmuch tea leaves can be plucked by 12 wornen
in & hours?

Options:

1. % 220kg
2 % 230kg
3% 240 kg
4 % 250kg

Question Number : 109 Question Id : 54592714451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
15 Aigert = 6 O W adr 225 kg =g &f ofdal IAT &n 8 O # 12 AfgATs gy fra=t 2 59 &1 =1 a@d 1 57

Options:
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1. % 220kg
2 ¥ 230kg
2. ¢ 240 kg
4. % 250 kg

Question Number : 110 Question Id : 54592714452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& and B can complete a work alone in 42 and 21 days respectively. If they work on alternate days, how rmuch
tirne 15 required to cornplete the job?

Options:

1. ¥ 14 days
=z % 21 days
3. ¥ 28 days
4. % 25 days

Question Number : 110 Question Id : 54592714452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A TR WM 42 AW 21 Tt f el & Q@ 9 T gl Tie o deieim ol H T #d g al B QT e 9 (o] T aea
Options:

1. % 14 %7
o % 21 faT
3 V¥ 2ERT
4 % 351

Question Number : 111 Question Id : 54592714453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rarm can cormplete repairing a laptop in S hours. Shyam is 20 percent more efficient than Ram. If Ram and
Shryarn work together, their efficiency increases by 10 percent. If 16 similar laptops need to be repaired, how
many hours will Rarm and Shyam together require?

Options:
1. % 10
= % 9
3. % 12
4 ¥ 3

Question Number : 111 Question Id : 54592714453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTH SIUST0 ! HOFAT S O¢ H 03T 9% @ gl T &1 qa-T # S0 20 idad siée Fad §) Fie O o 5379 U 99 &0 &5 5, af
I AT 10 WA a5 AT 31 A1 16 THM cue 10 & ALFAT F 91 ATTadaT &, 91 07 3% 5370 & 0% |17 T o &1
AT Iil?

Options:

1. %10

o % g

3. % 12
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4 ¥ g

Question Number : 112 Question Id : 54592714454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the volume of a cylinder with diameter 14 crm and height & cm.

Options:

1. 770 cucm
2. % 385 cucm
. ® 577 Scucm

4 ¥ 53 25 oycm

Question Number : 112 Question Id : 54592714454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
14 cm =0T 3 S cm 378 9 THEST & T &1 AT &)

Options:

1.9 770 cucm

2. % 385 cucm

3 ® 577 5cucm
4, % §35 25 cucm

Question Number : 113 Question Id : 54592714455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Calculate the wolume of a cube having side 23 cm.

Options:

1. ¥ Sd4cucm

2 ® 363 cucm
. ® F2coucm

4 % 243 cucm

Question Number : 113 Question Id : 54592714455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2+/3 cm % T aTe O 3 ST T TI0ET @
Options:

1. ¥ S4cuom

2 ® 368/3 cucm

3 % F2coucm

4 ¥ 243 cucm

Question Number : 114 Question Id : 54592714456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the lengths of the two parallel sides of a trapezium are € crn and its area is 80 sq.cm, then find the distance
between the parallel sides.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
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Options:
1. 6cm

2. Bcom
2 10cm
4 1Z2cm

Question Number : 114 Question 1d : 54592714456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gw%ﬁ'ﬂﬂﬂf@mmfﬁrME cm 3 10 cm & 3% S9ET 89%d 80 sq om § 31 59 FHEET il o &t 6t
=TT

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. 6cm

2 8cm

3 10cm

4. 12 cm

Question Number : 115 Question Id : 54592714457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The graph shows the contribution made by each mode of adwvertisement. & company spends money orl
different modes of advertisements to boost its sales. If the company, spends a total of Bs. 100000 to boost 12
percent of its sales, what percent of the sale is boosted by only newspaper advertisernent?

Contribution of Advertisement to
increase sales.

Options:

1. % 3.20 percent
2. % 260 percent
3. % 460 percent
4 & 4 20 percent

Question Number : 115 Question Id : 54592714457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 320 qiaw
2. % 360 uiduT
3. % 460 uHaT
4. ¥ 4 20 nidaT

Question Number : 116 Question Id : 54592714458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Refer to the chart showing 5 different types of cheese and their sales in rupees, sold by a shop. If 5 percent of
sales of cheddar cheese is Bs. 2850, what is the sale of cottage cheese?

Sales of Cheese

Options:
1. % B3 32500

= % Rs. 2R500
I # RBs 30500
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4 % 25800

Question Number : 116 Question Id : 54592714458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 32,500 w70
o ¥ 28 500 TOT
3. % 30,500 w0
4. % 25 500 T

Question Number : 117 Question Id : 54592714459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The table shows nurriber of daily labourers required in a factory during the year and their daily wages (in
rupees). In which month does the factory spend raxirrarm on wages?

RIS Byl [;g.:y fkoias
January 120 20
February 110 95
March 130 75
April 80 130
May 90 145
June 70 160
July S0 170
August 40 180
September 30 190
October 110 90
November 120 a5
December 130 75
Options:

1. ¥ May
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= ® June
= % March
4. ® Novermnber

Question Number : 117 Question Id : 54592714459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TG &Y o S U TRl H STeaed S Hoge] Pl 6] 0 I S o= (Fu #) & guidr 81 o ag o Feamr
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Srera <t 120 90
wITada 110 ss
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e 80 1so
e 20 145
70 160
—at 6 ==
AT 40 180
faaae 30 190
aTav 110 20
qTaa3 120 ss
B 5. 5 130 7s
Options:
1. v g
2 % o9
z % OE
4 % Jdav

Question Number : 118 Question Id : 54592714460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Refer the table and evaluate in which year the rainfall is highest {in total for all cities) when temperature is

more than 257C7?

Year Temp. (%) Rainfall (in ems)
Delhi Kolkata | Mumbai | Chennai

2015 28 100 120 140 60
2016 23 90 110 130 50
2017 25 80 200 =0 =
2018 24 70 90 110 50
2019 27 60 80 = =

Options:

1. ¥ 2019

= ® 2018

2 % 2016

4 % 2015
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Question Number : 118 Question Id : 54592714460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FTTeterT Sam graia ¢ T T o & ot e sifire g2 (et argel & g g e o 25°C & arféer 317

WA | IR () Tl (vt &)
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2015 28 100 120 140 60
2016 23 920 110 130 S0
2017 25 80 100 120 S0
2018 24 70 90 110 50
2019 27 60 80 100 50

Options:

1. % 2019

2. % 2018

=z % 2016

4 % 2015

Question Number : 119 Question Id : 54592714461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following chart shows total consumption of wheat (in MT) by families over a month. How many families
consume 15 percent or more wheat than family 47

14%
140
13
130
115
1m0

1%

Consumplion of Wheat (In MT)

144
13
132
19
= I
A B C o L

Families

Options:
1. % 4
o % 3
3 VD
4 %1

Question Number : 119 Question Id : 54592714461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 4
2 %3
3. V2
4 %1

Question Number : 120 Question Id : 54592714462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % greidan
2 ® gpdw

3 % R

4. GiHar

Question Number : 120 Question Id : 54592714462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Refer to the graph and find the day on which the attenndance in a class of 40 students is the highest?

40
M
2
-t M
L)
2
* 5N
{ 1
5 B 31
z 2
L}
3
Tuesday Wednewday Tln.mh-r Friday
Days
Options:
1. % Thursday
2. % Friday
% % Wednesday
4. ¥ Monday
Zeneral Englishl
Group Number : 7
Group Id: 545927717
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Zeneral Eriglishl
Section Id : 545927717
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927859

Question Shuffling Allowed : Yes
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Question Number : 121 Question Id : 54592714463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option Mo Error'

The medicine the doctor | prescribed haves unpleasant | side effects.
Options:

1. ®¥ The medicine the doctor

= ¥ prescribed haves unpleasant

3. % side effects.

4. % Mo Error

Question Number : 121 Question Id : 54592714463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
seriterice has no error, select the option Mo Error',

The medicine the doctor | prescribed haves unpleasant | side effects,
Options:

1. ®¥ The medicine the doctor

2. ¥ prescribed haves unpleasant

3. * side effects.

4 % MNo Error

Question Number : 122 Question 1d : 54592714464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

History reminded us) that events repeat | themselves.
Options:

1. % History reminded us

2. % that events repeat

3. % themselves.

4. % No Error

Question Number : 122 Question Id : 54592714464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

History reminded us| that events repeat | themselves.
Options:

1. ¥ History reminded us

= % that events repeat

3. * thermnselves.
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4. % Mo Error

Question Number : 123 Question Id : 54592714465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Kiran was dreaming for | becorming a famous | scientist one day.
Options:

1. ¥ Kiran was dreaming for

2. ® becorming a famous

2. % scientist one dav.

4 % MNo Error

Question Number : 123 Question 1d : 54592714465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option Mo Error'

Kiran was dreaming for | becoming a famous | scientist one day.
Options:

1. % Kiran was drearming for

2. % pecoming a famous

3. #® scientist one dav.

4. % No Error

Question Number : 124 Question Id : 54592714466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Mrs. Thakur was not quite | satisfied from the exam results of [ both her children.
Options:

1. % Mrs. Thakur was not quite

= ¥ satisfied from the exam results of

2. ®* both her children.

4 % Mo Error

Question Number : 124 Question 1d : 54592714466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

Mrs. Thakur was not quite | satisfied from the exam results of [ both her children.
Options:
1. % Mrs. Thakur was not quite

2 % satisfied from the exam results of
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= % both her children.
4 % Mo Error

Question Number : 125 Question Id : 54592714467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option Mo Error'

My dad shouted | at e because I was rude | 1o the guests.
Options:

1. ¥ My dad shouted

2. % at me because | was rude

3. % to the guests.

4. % IMNo Error

Question Number : 125 Question Id : 54592714467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

My dad shouted | at me because I was rude | to the guests.
Options:

1. ® My dad shouted

2. % at me because | was rude

% % to the guests.

4. % Mo Error

Question Number : 126 Question Id : 54592714468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the bracketed word segrent correctly and cormpletes the
sertence meaningfully.

Read the (follows instructions) carefully and act accordingly.
Options:

1. following instructions

2. % follow instructions

3. % followed instructions

4. % Mo correction required

Question Number : 126 Question Id : 54592714468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes (replaces) the bracketed word segment correctly and completes the
sentence meaningfully.

REead the (follows instructions) carefully and act accordingly.
Options:
1. following instructions
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= % follow instructions

= # followed instructions

4, % Mo correction required

Question Number : 127 Question Id : 54592714469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segment that substitutes replaces) the braclketed word segrment Ccorrectly and completes the
sentence meaningfully.

(Coes Shyarm writing) novels or short stories?
Options:

1. # Does Shyam writes

2. ¥ Does Shyarn write

= % Do Shyarn write

4, % Mo correction required

Question Number : 127 Question 1d : 54592714469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

(Does Shyarn writing) nowvels or short stories?
Options:

1. ¥ Does Shyam writes

2. ¥ Does Shyarn write

Z. % Do Shyarn write

4. % Mo correction required

Question Number : 128 Question Id : 54592714470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes (replaces) the bracketed word segment correctly and completes the
sentence meaningfully.

The Rajdhani Express (eaves from Delhi Station o) seven in the morning.
Options:

1. % leaving from Delhi Station on

2. % leaves from Delhi Station in

3. ¥ leaves from Delhi Station at

4. % No correction required

Question Number : 128 Question Id : 54592714470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segment that substitutes replaces) the bracketed word segment correctly and cormpletes the
sertence meaningfully.

The Rajdhani Express (eaves from Delhi Station on) seven in the morning.
Options:
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1. ® leaving from Delhi Station on

2 % legves from Delhi Station in
2. ¥ leaves from Delhi Station at

4, % Mo correction required

Question Number : 129 Question 1d : 54592714471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

{Please wait) for a moment, Kiara is talking to Mary.
Options:

1. ¥ Please wmaits

2. % Please waiting

Z. % Please to wait

4. ¥ INo correction required

Question Number : 129 Question Id : 54592714471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segment correctly and cormpletes the
sentence meaning fully.

(Please wait) for a moment, Kiara is talking to Mary.
Options:

1. % Please waits

2. % Please waiting

% % Please to wait

4. % No correction required

Question Number : 130 Question Id : 54592714472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sentence meaningfully.

(What were you does) when the courier arrived?
Options:

1. % what vou doing

2. ¥ wWhat were vou doing

% % what were you does

4. % Mo correction redquired

Question Number : 130 Question Id : 54592714472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segment correctly and cormpletes the
sentence meaningfully.

Mhat weere vou does) whern the courier arrived?
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Options:
1. ® What vou doing

Z % What were you doing
3. % Wwhat were vou does

4. % No correction required

Question Number : 131 Question Id : 54592714473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

The maid ______ the garbage into the dustbin yvesterday.

Options:
1. ¥ tos35

2 % tossed
2. ® tosses
4 # tost

Question Number : 131 Question 1d : 54592714473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The maid the gartage into the dusthin yesterday.
Options:

1. ® toss

2. ¥ tossed

3. *® tosses

4 % tost

Question Number : 132 Question Id : 54592714474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

He has the experience necessary for adwvertized software job.

Options:
1. % an
2. ¥ the
3 % g

4 % Noarticle

Question Number : 132 Question Id : 54592714474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

He has the experience necessary for
Options:
1. % an

adwertized software job.
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= ¥ the
o %5
4 % Mo article

Question Number : 133 Question Id : 54592714475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The sailors walled the ship.

Options:
1. % on
2. % topof
= ¥ aboard
4. % under

Question Number : 133 Question 1d : 54592714475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The sailors walked the ship.

Options:
1. % on
2. % top of
= ¥ aboard
4. % under

Question Number : 134 Question Id : 54592714476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The kads told ghost stories
Options:
1. during

= % for
= ¥ from
4 % on

the night.

Question Number : 134 Question Id : 54592714476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The kids told ghost stories
Options:

1. % during

2 % for

3. % from

the night.
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4 % on

Question Number : 135 Question Id : 54592714477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Grandma loved sitting
Options:
1. ® ynder

2 % on
3 % in
4. % ypon

her new rocling chair,

Question Number : 135 Question Id : 54592714477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Grandma loved sitting her new rocking chair.
Options:

1. % under

2 ¥ an

Z #in

4. % ypon

Question Number : 136 Question Id : 54592714478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The school bus driver ______ rashly on most days.
Options:

1. ¥ drives

2 % drived

2. % driven

4. % driving

Question Number : 136 Question Id : 54592714478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The school bus driver rashly on most days.

Options:

1. ¥ drives
2 ® drived
= % driven

4. % driving
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Question Number : 137 Question 1d : 54592714479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

There were many children in

Options:

1. ¥ the, the
= % 3 an
3. ® an, the
4 % a a

Question Number : 137 Question Id : 54592714479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

There were many children in

Options:

1. % the, the
2. % 3, an
= % an, the
4 % 3.3

Question Number : 138 Question Id : 54592714480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Flease ______ silence in the library.
Options:

1. ® maintaining

2. % maintained

= % maintains

4 % maintain

Question Number : 138 Question Id : 54592714480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Please ______ silence in the library.
Options:

1. ¥ maintaining

2. % maintained

% % maintains

4 % maintain

Question Number : 139 Question Id : 54592714481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: Finally thanks for reading, do let me know if there any good resources [ could use to find my birth family.
;[ think the name [ have for my mother is correct and know someone still living in Calcutta,

E.: I have very few details, from what I know [ came from 5t Catherine's Orphanage.

S: Hi, I was adopted in Barrackpore in 1991,

Options:

1. ¥ SROP
2. % SPRC
= % ROSP
4 % ROPS

Question Number : 139 Question Id : 54592714481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: Finally thanks for reading, do let me know if there any good resources [ could use to find my birth family.
;I think the name I have for my mother is correct and know sormeone still living in Calcutta,

E: I have very few details, from what I know [ came from 5t Catherine's Orphanage.

S:Hi, I was adopted in Barrackpore in 1991,

Options:

1. % SECQP

2. % SPROQ

3. % ROQSP

4 % ROPS

Question Number : 140 Question Id : 54592714482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and labelled F, ©, R and 5. Select the option that gives
the correct sequernce in which these sentences should be rearranged to form a meaningful paragraph.

F: "Brealup" 15 cormrnonly terrmed "dumping [sormeons]” in slang whern it is initiated by one partner.
;A relationship breakup, often referred to simply as a breakup, is the termination of an intimate
relationship by any means other than death.

E: The term is less likely to be applied t0 a married couple, where a brealkup is typically called

2 Separation or divorce.

5. When a couple engaged to be married breaks up, it is typically called a "broken engagerment”
Options:

1. % PR5Q

2. % SREPO

3. ¥ QFRS

4 % PORS

Question Number : 140 Question Id : 54592714482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: "Brealup" is cormmonly termed "durnping [somecne]” in slang wiien it is initiated by one partner.
O A relationship breakup, often referred to simply as a breakup, is the termination of an intirmnate

relationship by any means other than death.

E: The terrm is less likely to be applied 10 a married couple, where a brealoup is typically called

a separation or divorce.

S When a couple engaged to be married breaks up, it is typically called a "broken engagerrent”

Options:

1. % FR3Q
2 % SRPO
2. ¥ QPRS
4 % PORS

eneral Englishz

Group Number : 8
Group Id: 545927718
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

eneral Englishz
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Number of Questionsto be attempted: 16

Section Marks: 20
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Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592714483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: that the ability to be alone is an essentially healthy sign of emotional development and maturity. Once a
child has obtained closeness and attachrment by his early caregivers, he or she 15 able to develop ermotional
developroent and maturity.

& if children hawe not introjected the good and protective qualities of their parents,

R they will fear separation and break-ups.

5. Kamer K Rueckert argues with the works of Donald Winnicott

Options:

1. ¥ SPCR
2. % PORS
2. % PERQ
4 % SORP

Question Number : 141 Question Id : 54592714483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: that the ability to be alone is an essentially healthy sign of emotional development and maturity. Once a
child has obtained closeness and attachrment by his early caregivers, he or she 15 able to develop ermotional
developroent and maturity.

& if children hawe not introjected the good and protective qualities of their parents,

R they will fear separation and break-ups.

S: Kamer K Rueckert argues with the works of Donald Winnicott

Options:

1. ¥ SPCR
2. % PORS
2. % PERQ
4 % SORP

Question Number : 142 Question Id : 54592714484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYHONYM 1o the word given belca.

ACTIMER
Options:

1. % Erilliance
2. % Temerity
2. % Jgnorance

4. % Condernn

Question Number : 142 Question Id : 54592714484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that 15 closest in meaning SYHNONYM 6o the word given below.

A CUMEM
Options:
1. % EBrilliance
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2. % Temerity

3. % Ignorance

4. % Condermn

Question Number : 143 Question Id : 54592714485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the correct word HOMOMYM that fills in the blank and makes the sentence meaningful.

Kashyap
Options:
1. % road
= ¥ rode
3. % rowed
4. % roed

away 01 his motorcycle in a huff,

Question Number : 143 Question 1d : 54592714485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMNYM that fills in the blank and makes the sentence meaning ful.

Kashvap away on his motorcycle in a huff,

Options:
1. ¥ road

2 % rode
2 # rowed
4 # roed

Question Number : 144 Question Id : 54592714486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMNYM that fills in the blank and makes the sentence meaningful.

Morm could not pick up rmy sister because the of the car was punctured.

Options:

1. % tyre
2. % tier
3. % tire

4, % tyer

Question Number : 144 Question Id : 54592714486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the correct word HOMOMYM that fills in the blank and makes the sentence meaningful.

Morn could not pick up my sister because the
Options:

1. ¥ tyre

2. % tier

3 % tire

of the car was puncrured.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

4. ® tyer

Question Number : 145 Question Id : 54592714487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTOMNYM to the word given balow,

EEMEYOLENT
Options:

1. # Urbanised
2. % Apgrarian
= ¥ Miserly

4. % Malignant

Question Number : 145 Question 1d : 54592714487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning ANTOMNYM to the word given below.

EENEWVOLEMT
Options:

1. ¥ Urbanised
2. % Aprarian
=, ¥ Miserly

4. % Malignant

Question Number : 146 Question Id : 54592714488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 closest in meaning SYHONYM 1o the word given belom.

GEMNEE
Options:

1. ® alluring
2. % [gnorance
3. ® Upsurge
4. ¥ Category

Question Number : 146 Question Id : 54592714488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning SYHNONYM o the word given below,

SEMNEE
Options:

1. % alluring
2. % Jgnorance
% % Upsurge
4. ¥ Category
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Question Number : 147 Question 1d : 54592714489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Bourgecisie
2. % Borgwasy
Z. ¥ Bourgieoise

4, % Bourgeisie

Question Number : 147 Question Id : 54592714489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Bourgecisie
2. % Borgwasy
% % Bourgieoise

4. % Bourgeisie

Question Number : 148 Question Id : 54592714490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Allegence
2. % allegance
3. % Alegiance
4. ¢ allegiance

Question Number : 148 Question Id : 54592714490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly. Choose the correctly spelt word.

Options:

1. % Allegence
2. % Allegance
3. % alegiance
4. ¥ Allegiance

Question Number : 149 Question Id : 54592714491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Presbaterian
2. ¥ Presbyterian
Z. % Presbuyterian

4, % Pressbytarian
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Question Number : 149 Question Id : 54592714491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:
1. % Preshaterian

2. ¥ Presbyterian
3. # Presbuyterian

4. % Pressbytarian

Question Number : 150 Question Id : 54592714492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or plirase giverl below,

'Bite off more than you can chew!'

Options:

1. % to try to do something that is too difficult for you
2. % to be able to predict the future

= # to break relationships with others

4. % to fiddle or meddle with something

Question Number : 150 Question Id : 54592714492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giver below.

'Bite off more than you can chew!'

Options:

1. % to try to do something that is too difficult for you
2. % to be able to predict the future

% % to break relationships with others

4. % 1o fiddle or meddle with something

Question Number : 151 Question Id : 54592714493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

'Back against the wall'

Options:

1. # When you're really in need, you think of creative solutions to your problems.
2. ¥ Be in a difficult situation from where escape is difficult.

Z. % Todo something badly or cheaply.

4. % Running away from tricky situations.

Question Number : 151 Question Id : 54592714493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Select the option that best expresses the meaning of the idiom or phrase giverl below.

'Baclk against the wall'

Options:

1. ® Wwhen you're really in need, vou think of creative solutions to your problems.
2. ¥ Be in a difficult situation from where escape is difficult.

Z. % To do something badly or cheaply.

4. % Running away from tricky situations.

Question Number : 152 Question Id : 54592714494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or phirase giverl belosw,

'4 chip off the old block!

Options:

1. % to describe exactly what is causing a situation or problem
2. % to hawve some secret information about someone

3. % 1o flatter somecne

4. ¥ similar to somecne in the generation before you

Question Number : 152 Question Id : 54592714494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase givern below.

‘& chip off the old block!

Options:

1. # to describe exactly what is causing a situation or problem
2. % to hawve some secret information about someons

= % to flatter someone

4. % similar to someone in the generation before you

Question Number : 153 Question Id : 54592714495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

To influence someone in a deceptive way
Options:
1. % Beguile

= % Ethereal
= % Delirious

4, % Pluviophile

Question Number : 153 Question Id : 54592714495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIEsSI0NSs giverl below.

To influence sormeone in a deceptive way
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Options:
1. ¥ Beguile
2. # Ethereal

Z. % Delirious
4. % Pluviophile

Question Number : 154 Question Id : 54592714496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the ERPIessions giverl below,

To persuade by flattery or coaxing
Options:

1. # Callous

2. ¥ Cajole

= % Epoch

4 # Juvenile

Question Number : 154 Question 1d : 54592714496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

To persuade by flattery or coaxing
Options:

1. ® Callous

2. ¥ Cajole

Z. % Epoch

4 % Juvenile

Question Number : 155 Question Id : 54592714497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

Sormeone who criticizes or attacks cherished ideas and beliefs
Options:

1. # Lexicographer

2. % Dictator

3. ® Composer

4 % [conoclast

Question Number : 155 Question Id : 54592714497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIessions giverl below,

Sormeone who Criticizes or attacks cherished ideas and beliefs
Options:
1. # Lexicographer
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2. % Dictator
2. % Composer

4. ¥ [conoclast

Sub-Section Number: 2
Sub-Section 1d: 545927861
Question Shuffling Allowed : Yes

Question Id : 54592714498 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cestion Label | Comprehiension

Eead the passage below and answer the questions that follow.

Alr India is the flag carrier airline of India, headquartered at New Delhi. It is owned by Air India Lirmited, a
government-owned enterprise, and operates a flest of Airbus and Boeing aircraft serving 94 domestic and
internaticnal destinations. The airline has its hub at Indira Gandhi International Airport, New Delhi, alongside
several focus cities across India. Air India is the largest international carrier out of India with an 18.6 idad
market share Over 60 international destinations are served by Air India across four continents. The airline
became the 27th member of Star Alliance on 11th July 2014

The airline was founded by J. B. D. Tata as Tata Airlines in 1932; Tata himself flew its first single-engine de
Hawvilland Puss Moth, carrying air mail from Karachi to Eombay's Juhu aerodrome and later continuing to
Madras (currently Chennai). After World War I, it became a public lirmited company and was renamed as Air
India. ©On 21 February 1960, it took delivery of its first Boeing 707 named Gauri Shankar and became the first
Asian airline to induct a jet aircraft in its fleet.

Alr India's mascot 15 the Maharajah thigh King). It was created by Bobby Kooka, the then—cormmercial director
of Air India, and Urnesh Rao, an artist with J. Walter Thormpson Limited in 1946, Kooka stated that, "Wwe call
him a Maharajah for want of a better description. But his blood isn't blue. He may look like rovalty, but he isn't
roval”. Alr India adopted the Maharajah as its mascot in 1946, It was used in promaoting it although initially
designed only for the airline's memo-pads.

Sub questions

Question Number : 156 Question 1d : 54592714499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which among these is the flag carrier airline of India?

Options:

1. # Indian &irlines
Z ¥ Ajr India

2% Jet Alrways

4. # Maharaja airlines

Question Number : 157 Question Id : 54592714500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which among these was the first Eoeing 707 for Air India?

Options:

1. * Gauri Parvat
2. % Gauri Sinha
2. ¥ Gauri Shankar
4. % Shiv Shankar
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Question Number : 158 Question 1d : 54592714501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, Air India was founded by whorm?

Options:
1. # Ratan Tata

2. % Sohrabji Tata
2. % Dadabhai Tata
4 % JRD Tata

Question Number : 159 Question Id : 54592714502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, who armong these 15 the mascot for Air India?

Options:

1. ¥ Maharajah
2. % Thakur

2. % Kuwarsa

4. % Rai Bahadur

Question Number : 160 Question Id : 54592714503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, JRD Tata carried air mail from

Options:
1. % Mumbai to Karachi

2. % Karachi to Chennai
3. % Chennai to China

4. % Mumbai to Eerala

Question Id : 54592714498 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cuesticon Label | Comprehension

Eead the passage below and answer the questions that follow.

Air India is the flag carrier airline of India, headquartered at New Delhi. It 15 owned by Air India Limited, a
government-owned enterprise, and operates a fleet of Airbus and Boeing aircraft serving 94 domestic and
internaticnal destinations. The airline has its hub at Indira Gandhi International Airport, New Delhi, alongside
several focus cities across India. Air India is the largest international carrier out of India with an 18.6 Wi
market share. Over 60 international destinations are served by Air India across four continents. The airline
became the 27th member of Star Alliance on 11th July 2014

The airline was founded by J. BE. D. Tata as Tata Airlines in 1922; Tata himself flew its first single-engine de
Havilland Puss Moth, carrying air mail from Karachi to Eombay's Juhu aerodrome and later continuing to
Madras (currently Chennai). After World War II, it hecame a public limited company and was renamed as Air
India. ©On 21 February 1960, it took delivery of its first Eoeing 707 named Gauri Shankar and became the first
Asian airline to induct a jet aircraft in its fleet.

Alr India's mascot is the Maharajah tigh Kingh. It was created by BEobby Koolka, the then-cormmercial director
of Air India, and Urnesh Rao, an artist with J. Walter Thormpson Lirmited in 1946, Kooka stated that, "Wwe call
him a Maharajah for want of a better description. But his blood isn't blue. He may look like rovalty, but he isn't
royal”. Alr India adopted the Maharajah as its rmascot in 1946, It was used in promoting it although initially
designed only for the airline's memo-pads.

Sub questions
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Question Number : 156 Question Id : 54592714499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which among these is the flag carrier airline of India?

Options:
1. % Indian Airlines
= % Air India

3. ® Jet Alrways

4. % Maharaja Airlines

Question Number : 157 Question Id : 54592714500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage,which among these was the first Boeing 707 for Air India?

Options:

1. ® Gauri Parvat
2. % Gauri Sinha
%, ¥ Gauri Shankar

4 # Shiv Shankar

Question Number : 158 Question Id : 54592714501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, Air India was founded by whorm?

Options:

1. ® Ratan Tata

2. % Sohrabiji Tata
Z. % Dadabhai Tata
4 ¢ [R.D Tata

Question Number : 159 Question Id : 54592714502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, who among these is the mascot for Air India?

Options:

1. % Maharajah
2 % Thakur

3. % Kuwarsa

4 % Rai Bhadur

Question Number : 160 Question Id : 54592714503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, J.E.D . Tata carried air rail from

Options:
1. % Mumbai to Karachi
= % Karachi to Chennai

= # Chennai to China
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4 # Mumbai to Kerala
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Question Number : 161 Question Id : 54592714504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng ®, oW Hwedt § 9, 39 [Hwed &7 a9 ¢ A1 SO e & @1 dded 5

Options:
1. % ThaT

2. ® JEm
3. ¢ gi-ut
4. ® T

Question Number : 161 Question Id : 54592714504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tty ng  aw Heedt § 9, 39 ey &7 a9 &6 S S99 Seg & @1 e g

Options:
1. % Mg

= % dwm
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= gi-ut
4 # T

Question Number : 162 Question Id : 54592714505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fwedt § 9, 39 Towed &1 a9 3 A1 9247 g @71 a5 SweT A1 51

Options:

1. % difdm
o ® T
3. % anfle
4 o g%

Question Number : 162 Question Id : 54592714505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng H, oW Swedt § €, 39 9wy &1 =aq ot A7 BT a=g @ Ayl Swen T51 gh

Options:

1. % dffer
o ® O
3 % et
4 ¥ -

Question Number : 163 Question Id : 54592714506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ol v §, ox Seedt 8 9, 39 Swey #1099 & 1 fou 77 seg & Ty 981 9w aoqeT aa & foug @7 Heer g

REEIPE

Options:

1. % weg o T ey
2. % oy g

3. ¥ Hog W AR
4, % Hog @ AR

Question Number : 163 Question Id : 54592714506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET v #, or Swed! § 9, 39 fowey #1099 #1 S7 fau M0 seg & o0 |21 6wer aogey aaE & faug @7 Heew g

BRIV

Options:

1. & weg o Tl sy
o % "o g

% % Hog gwT ¥R
4, ¥ Hog B AT

Question Number : 164 Question Id : 54592714507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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T ng ®, oW et § 9, 39 Hwed &7 o4 B¢ S T F 9 a1 T Swed 50

T = AT o TeFa N
Options:

1. il R
2 % ey

3. ® Rl T
4. % g

Question Number : 164 Question Id : 54592714507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng & aw et & 9, 39 MHeey @71 o9 & S i F 9 T gt e gn
T = AT o TN

Options:
1.y farm
2 % e

3. ® o fawar
4. ® gz R

Question Number : 165 Question Id : 54592714508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET wg §, o Teent #§ °, 39 oo o7 =T o A1 150 T ey o W0 are & AT # gt e g

TTET T AT TR T s W G ¥ E

Options:

1. % cteerT g e® ST
2. & HHHTEHR Sz e Sl
2. ® gTedTEE TR s

4 ® gleAmraTe TS sea

Question Number : 165 Question Id : 54592714508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T ng |, oW wedt § 9, 39 [Hwed &7 a9 ¢ 1 130 70 ane & o0 slea 3 9 # T ag1 fdwed 51

TTT T AT TR T o] FETT G ¥ F

Options:

1. % cofere SugEETE S

2. ¥ U Tga e ST
3. ® STecTo TR STere
4. ® gl RrTioEe aem

Question Number : 166 Question Id : 54592714509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET ng # or et # 4 39 Been #1229 @ 1 By 70 seg & uaiaart g @1 @et e Tt 8

=
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Options:

1. % giar
2 % i
3. ¥ g
4 % AT

Question Number : 166 Question Id : 54592714509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEARET vg # gr Teet # € 39 Beey @1 509 w8 1 By T e uaiaar’ geg @1 9n dwed Tl 8l

=it
Options:

1. % gfar
2 % T
2. ¥ it
4. % FriE-T

Question Number : 167 Question 1d : 54592714510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeT ng § ow Bweat § 9, 39 Swen @1 =749 o =t =iy 7 s ¥ vaiaamdt seg @ agt Heer =gt 3

il

Options:

1. ot
2 % g
3 % g

4 % T

Question Number : 167 Question Id : 54592714510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg # ow Awedt § 9, 39 ey @ oaq @ S 150 T Seg, F Taiaame Seg %7 50 [deed "51 8l

)

Options:

1.« grin
2 % T
3 &

4 ® fzm

Question Number : 168 Question Id : 54592714511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # gr Teet # 9 79 Twen o1 909 9 A1 Sy 7Y seg & DA e o w8l dewed 8

Options:

1. % gog
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= W TR
2. % owamf
4. ® EEmg

Question Number : 168 Question Id : 54592714511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET g # or Teet # 9 39 T @1 909 a0 1 TRy 70 g & TOEW seg @ wat Heed B

LECaR
Options:

1. % go
2 o
2 ® o
4 % TEEW

Question Number : 169 Question Id : 54592714512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET v §, T THeent § §, 39 Swen o1 =709 & A1 G0 0 see & TR awg @ anr e 2

e

Options:

1. ¥ argga
o % g
3 % ggEd
4. v =

Question Number : 169 Question Id : 54592714512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng |, oW wedt § 6, 39 Hwed &7 949 & A1 130 T skg F E6A J=g &1 d51 oded 31

e

Options:
1. ¥ argEd
o % g
3. ® Fgrnt
4. ¥ =

Question Number : 170 Question Id : 54592714513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T na #, or Twedt 8 9, 39 981 Hwey &7 997 = 91 U 70 Seg-m % onf T wat oweT g

SAATT=4T4T
Options:

1. ¢ zopf oflR ot
5 % ggg ST
3 % UHT S e
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4 % el oW aEd

Question Number : 170 Question Id : 54592714513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e v , IR Swed! 8 9, 39 951 Dweq &7 999 w1 90 77 Jea- W % of w1 gl HweT 51

ATHT=T4T
Options:

1. zopf iR ot
> % e s vt
3 ® el oK wa
4 % el s agw

Question Number : 171 Question Id : 54592714514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg H, ar Teet # € 79 Twen o1 909 6 A1 Ry Ty aeiy & BT Ow g=g @ el deed 2

Toa g & AT

Options:

1. % T
2 ® e
3 ® uwad
4 & TR

Question Number : 171 Question Id : 54592714514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToteET vg § o Bwedt § 9 39 Swew @1 = & At g o arens & T ow aeg @ ant Heed 21

T g wi arer

Options:

1. % Mo
2. ® e
2 % ggag
4 & TR

Question Number : 172 Question Id : 54592714515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THERET na #, oW Awed! # 9, 39 Aa1 [dwed &1 90 ¢ A1 106 ¥ & o] I fawed g

Options:

1. % 19
o % g
3 % FE
4. & FTH
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Question Number : 172 Question 1d : 54592714515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET vg §, T Teen § §, 39 9nl Hwew &7 9o w AT e e & W0 IR HeeT gh

Options:

1. % @
2 % T
3. % aF
4 & FE

Question Number : 173 Question Id : 54592714516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng §, oW et § 9, 39 THeed &7 =9 & A1 20 7 seg & QAR deg @7 oded T51 o)

g

Options:

1. % 9mug
2. ® AT
3. v T
4. % Ty

Question Number : 173 Question Id : 54592714516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET g # or et # € 39 Teew &1 =0 & 91 T 70 e % aAmt geg @ B gt 8

g

Options:

1. ® gmF
2. ® arET
3 ¥ T
4. % Ty

Question Number : 174 Question Id : 54592714517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg |, or Hwent § €, 39 957 Hwed #7199 w9 A1 ok v @ 6T 3UgE Jeg W |e 1 iawed gl

Options:
1. ¥ T
2. % Tmar
3. % Ty
4. % =7

Question Number : 174 Question 1d : 54592714517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Tty va §, ox Beedt 8 9, 39 951 TawT &7 g9= = 91 Top v & o0 Suaw g #7951 [deey gl

Options:
1. ¥
o % T
Iz %o
4 % =7

Question Number : 175 Question Id : 54592714518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRaT ne 8, o el # 9, 39 ooy 7 9o & 57 §g o8 ®1 d51 [d@ed a1

Options:

1. % TommnE
2. % TaERIar
3. ¥ oA

4, % omTHfT

Question Number : 175 Question Id : 54592714518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oty va #, ox Swedt § €, 39 owey #7099 3 1 g Jeg #7951 oFed o)

Options:

1. % ZeTmerdeTey
o, % ToreHTEiET
3. o A

4. % TomETAET

Question Number : 176 Question Id : 54592714519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i v § o fawedt # 4, 20 Hwer #7997 ¢ = g7 gleam 9 g 3
Options:

1. v gia

2 % gEer

. % gETE

4. ® wgll

Question Number : 176 Question Id : 54592714519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeiET na §, o fHweal & §, 39 fEwew o1 zee @3 St Her giee G 95 )

Options:

1. v giar
2. % gaer
3 % FEe
4. % g
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Question Number : 177 Question Id : 54592714520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng |, oW et § 9, 39 Hwed &7 949 ¢ S 130 10 e 37 Sia feg 91T Hded 8l

TeremaT
Options:

1. % et

o, & TRt

3. % fente
4. % TFremaeEd

Question Number : 177 Question Id : 54592714520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW et # 9, 39 Hwed &1 o0 & S [0 T g %7 S0 feg 9167 f9hed gl

TeremaT
Options:

1. % Teremdt

2 o et

3 % TorEnte
4. ¥ femaee

Question Number : 178 Question Id : 54592714521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeET ng §, o Bweat § 9, 39 Swen @7 a9 & St T2 Uhaa- deg & 99 SRET 9w 21

Options:

1. % &2
2. % Tr
3. ¥ ST
4 % 9=

Question Number : 178 Question Id : 54592714521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng #, o Dweal § 9, 39 9@ &1 =09 & 7 921 U Jeg, &1 Gad SR8T 9@ gl

Options:
1. % &
2. ® A

=% AT
4 # a9

Question Number : 179 Question Id : 54592714522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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TafeTET we #, I et # 9, 39 fowey &7 e & S 18 10 958 & e deg B ded s fHeed 7]

ERS
Options:

1. % Fegart
2 % T
3. % aepalr

4. ¥ Tyl

Question Number : 179 Question Id : 54592714522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trafeiad wa #, IR et # 4, 39 fowey 7 e #  fay 10 o8 & agaa Jeg 1 dad aRaT fawe 2]

EEN
Options:

1. % gegart

2 % Ty
3 % gega

4. ¥ Tl

Question Number : 180 Question Id : 54592714523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T vg 8, ox Hweat # €, 39 Teer @7 oad 7 F1 @Ee § TG0 T 95T & SR S0 [ arH® Ga-Td ® el idwed gh
Options:

1. % (qre) g7 f Sie & ugel | o1 die

2 ® (g FTH G GG H A5 AT RN

=,V (2 A e T T e T awd

4. % (W) TR AET TR BT TR gLt e

Question Number : 180 Question Id : 54592714523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafefaT na 4, ox Heeut # 9, 39 Seew &7 o= = A 2ivw § 150 70 9T & Sgan o o0 arw Ga-T0 &1 9g1 fdwed gh

Options:

1. % (qreh g7 1 e & Ugel G o= 1 =1
2. % (zW) FAT P anel § TET AT T

3. ¥ (3 A A TRt T T AT Ao )

4. % (W) T HAT A5 5T T gEL F?

eneral Hindiz

Group Number : 10

Group Id : 545927720
Group Maximum Duration : 0

Group Minimum Duration : 120
Revisit allowed for view? : No

Revisit allowed for edit? : No
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Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Zeneral Hindiz

Section Id : 545027720

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 545927863
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592714524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ToiafET ng & aw et § 9, 39 Heew @7 o9 @8 91 a0 70 G & @ & 9 7 950 [deeT 5N
AT A H dedT 8l

Options:

L ¥ 2gegme
YTFTA

2 % aTEg qEEe
3. ® el g
4« g Td AT

Question Number : 181 Question Id : 54592714524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng §, o Teen § |, 39 oo o7 94" & A1 o0 0 a9 & #1a & YT 97 a5 fdweT g

AT A H ded T 8l
Options:

L ¥ 2gegae
THTA

2. % STeg qaEd
3. % amuf qaeTe
4 G T ATETT

Question Number : 182 Question Id : 54592714525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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T ng H, oW et § 9, 39 Hwed @7 a9 & A1 150 M7 ane & 00 g 3 9 97 dae ST OwmeT 3

T ¢ oI Teenea & gEl g
Options:
1. % Tereepef

2. & gvramet
3. % magnf
4 % Tyt

Question Number : 182 Question Id : 54592714525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng §, ow Sweul § 9, 39 [9we0 &1 =09 @ A1 oy 7y e & TR0 g & 99 @ 99 2RET fa@ed 2]

T 7 o e T gErEn
Options:
1. % Terepef

2. & et
3. % gt
4. % Tosoramef

Question Number : 183 Question Id : 54592714526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TacRET ng #, oW feed! # 9, 39 ey &1 909 & 51 [0 70 a1 & o0 0y & 99 97 9e SR8 dwed o)

TRl ST S1T T T 2

Options:
1. ® gravzars
= ¥ Hradraias

Question Number : 183 Question Id : 54592714526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg H, ar et # € 39 Teen @1 90T @ 1 Ty T are & TR0 gy & T @7 gae areT e 8

Tl S0 3157 U YT 2l

Options:

1. % grvaarss
o ¥ Fegawias
3. % gidEae

4, ¥ FOAEIEE

Question Number : 184 Question Id : 54592714527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

T ferwreat # & M amgar g vivad 7 #7 fHwer giom

EEIRE IEHRCICIGIEE 2
Options:

1. % o 98! EeT =@

2. % HgeT g gE|T a7

3. R g A | AR G ST
4, & T T GET A5 G =T

Question Number : 184 Question Id : 54592714527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Terereul # & TS aTar g uivad q 7 ey gi-m

T G A1 EET (A=)
Options:

1. % ST gl 6T AT

2. % geT IR g | a7

3. % g A | AR G AT
4, & T T GET A5 T A=

Question Number : 185 Question Id : 54592714528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt ng & aw et § 9, 39 Heew &1 209 ¢ 91 951 a9 9 #7 et 50
AW T a5 3= 3

Options:

1. % T o

2 ® ggm aed

3. % [AeEEer e
4. & TTA T

Question Number : 185 Question Id : 54592714528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt ng & aw et § 9 39 Terew &7 =09 @ 91 9l a9 9 F7 ddeT 5N
FHIC 105 g ok 3l

Options:

1. % fipr e

2 % ggm aed

3. ® fhEmEe T
4. & |LA T

Question Number : 186 Question Id : 54592714529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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T ng |, oW et § 9, 39 Tooed @7 =9 T A1 Gg1 a9 @7 d@ed 5N

il ST | o T g SRt g Bl
Options:

1. % #Hgm g

o, & Ty am

3. ¥ HigdmEd aEg

4. ® FhaamEd g

Question Number : 186 Question Id : 54592714529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng #, o Sweul § 9, 39 [9we0 &1 =909 &t A G551 a19g 95 @7 [deeT g

Tl ST | o T g SR ST )
Options:

1. % Hgw aer

o, & Ty

3. ¥ HigdmEd aag

4. % HhaamEd amg

Question Number : 187 Question Id : 54592714530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt ng & aw et § 9, 39 Heew &1 209 ¢ 91 951 a9 9 #7 et 50

ST = T 7T S #4775 4rm
Options:

1. ® {eradmd ameg

2. ® {ed g

3. % o

4 ggm FEd

Question Number : 187 Question Id : 54592714530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt ng & aw et § 9 39 Terew &7 =09 @ 91 9l a9 9 F7 ddeT 5N
ST = T 1T & HT + &= 2im

Options:

1. % oo amg
o % | g

3. % fipr g

4 Tgm aEd

Question Number : 188 Question Id : 54592714531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i ng #, o et § 8, 39 Swew w1 oo o St 9w g g% a1 @7 a5t Hee 50

Options:
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1. % Fg 5w, = & e, 9t g1, Tar o
2. % A EH I ° el aut gf w5t 2
%, ¥ T gH O © T, i g1 a5 T 2
4, ¥ T gH O T, auf g7 w5t off?

Question Number : 188 Question 1d : 54592714531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va 8, ox Bt ¢ 9, 39 Bwer @7 o9 = 71 foom g g% o9 @791 ieeT gn

Options:

1. ¥ Fa g, o o s, auf g1, w51 2m
2. % g EH O § el aut gf 75T 2
3. ¥ A9 TR O © T, aut 5f w51 2
4, ¥ g W © T, auf 51 w5t 17
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Tl ng §, o Beent & 9, 30 Fwew w1 == o St Bew g 3% a1 @7 95t e 5
Options:

1. g U UL UeUR WA E; T gH el 4T Bl

2. ¥ THUZ W YU AT § 9E gH B AT R

3. % g UT Y URUR HIE £ °% &, el ST R

4. % 0T 0 U AT & TE B, B 4471 )
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Correct Marks: 1 Wrong Marks: 0.25
Tty va §, ox Bt ¢ 9, 39 Swey @1 o9 =1 1 foom g g% o9 @1 9s1 e gn

Options:

1. ¢ R UZ W YUl AR ; o5 TH Bel ol gl
2. % g Ug 0 UCY A Og BH WAl dAT R

3. ¥ gHUZ W UUE AT & T §H, Tl 4T 8l
4. % g 0 UeU AT | °E §H, e 4T )
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TafeRaT va 6, o et # 9, 39 ooy =7 gom & =1 gy 70 ggray & fow a5t eref o ey 31

ST TAT SATHAT

Options:

1. % =7 T

2. ¥ a1 7 GABE ST BT & wpel
3. % T T SR WAl

4. % AT T AT

Question Number : 190 Question Id : 54592714533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

Correct Marks: 1 Wrong Marks: 0.25
TamET vg |, ox Hweat § €, 39 Swer o1 oad @ A1 T Ty gere & B a5t arf arar e 2l

SAT AT ST
Options:
1. % @7 I

2. ¥ GEl @1 GART UL G ST g
3. R T W AR HAT
4 ® AT HIH HEadET
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Tty va §, ox Beedt 8 9, 39 Twey #7099 =% 91 fou 7y gerat & o agt anf ot Teer 3

T &g AT
Options:

1. % |qramr

2. % ag TR

3. ¢ e AT
4 % AT FAT
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i va § o fawedt # 4, 20 wer @7 o998 = fou o gera & oy wet anf arar Heen &
T &g o

Options:

1. % gr=mr

= % aF TR

= ¥ e T AT

4 % AT FTAT
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Correct Marks: 1 Wrong Marks: 0.25
TamET vg |, ox Hweat § €, 39 Swer o1 oad @ A1 T Ty gere & B a5t arf arar e 2l

1T 0T =g -T

Options:

1. % 3ty @mer

2. ® THg T T

3 % R g

4. & T T WET § AT
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Tty va §, ox Beedt 8 9, 39 Twey #7099 =% 91 fou 7y gerat & o agt anf ot Teer 3

1T O =g -T

Options:

1. % sty fmar

= R oEE T AT

3. % FifT g

4. & T T 9T 54T
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TofafET ng & ow et § 9 39 Heew &7 a9 w8 91 31 T fw i & o agt arf @ e &
T FEIN T 0 gl gl

Options:

1. % SEreamm

2 % Tl &t oft U 7 g

3. & UL T o YR ST o I Wl
4. ® e F AT
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Correct Marks: 1 Wrong Marks: 0.25
T v §, o THeent § 8, 39 feen @7 == & S S T8 Alwiies & o] agr e arar Eeed g

FE W GRIR T T FET =i

Options:

1. ® Tgreame

2. ® Tl &1 AT Uw 7 g

2. gETl B F GAHE SI0T 52T H B AT
4 % T T AT
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T ng |, oW fwed! § 9, 39 THoed &7 =9 T A1 o T8 A@ s & o] dnt 3wl aTar ST 8

I Gy THTAT ST

Options:

1. % Tt %7 9 f5am-r

2. % FTAT-FET FEAT

3. & AT HAT

4. & AT BT T 9 g BT
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TofafET ng & ow et § 9 39 Heew &7 a9 w8 91 31 T fw i & o agt arf @ e &
T Gl AT ST
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Options:

1. % T 7 o8 faw-r

2 % FAT-gE TAT

3. % AT EEAT

4 ST B A 9 G BT
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Correct Marks: 1 Wrong Marks: 0.25
AT vg H, ar Teet # € 79 957 Bwe @ = o A1 S Al & oy agt el e e 81

T g7 o= g, TEe o i
Options:
1. ® oz 90 WY weT

2. V' URCH @7 B St e §
3. % Rt ari | el @ g
4. % Fgd Tt ang et & e
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Correct Marks: 1 Wrong Marks: 0.25

T ng | o Bwedt § 9 39 99t Heed @7 oo w1 S e Al & B agt et e Bee 21
e T e e, IR R

Options:

1. % o5 o0 wH HeaT

2. ¥ TiA 97 Bl S THaET 8
5 % oit g & Rt @t gear
4. % qga Tt ey TRt & femr
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Correct Marks: 1 Wrong Marks: 0.25
T i Wl oY cfthed 0 Sglied G1dl a7
Options:

1. % aFERTTH
2 % m=ig T
3. % areaTert

4. & fIFgH TR |
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e eaagTe & Frad Teae gaug 81 g1t 27

Options:

1. % mar
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Targeft & @ty fter o7 anTE & T o BT 27
Options:

1. T & gl

2 % FifgT e nm T e

3. % Frigpaear ¥ gy

4 % mryeayof arTeT
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TH W - AT AT B gaiaarE Tg 8e
Options:

1. % fiear

2 & i

3 % gaoffmar

4. % Fuar
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TH Ageis 1 PIE SUgH dHw-
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1. % farerar ofte Targmeff

2. ® mey of wepld

%, ¥ ITEIAdT Ged SFRET ST

4 % mryeayof arTeT
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TG 1 W 7T Sfthed 0 @l d B1d7 a7
Options:

1. % aFERH

2 ® =g d

3. % aqraerert

4. dierw SRR o
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Sterg =g o Fred e sauyg = g &7
Options:

1. ® geper

o o ST ST

3. * g@g adEe

4. % O E AT
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Tumeft # ot e &7 e S AT FAT AT 57
Options:

1. ¥ Ty ake

2. % FifgT o nm T e
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1. % fdrear
oV g
z. % gafmar
4. % Fmar
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2 % g e Ul

3. ¥ ITEAT Fed SFaT ST

4. % ryeayof FrTeT
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